4. SIMPLIFICATION

IMPORTANT CONCEPTS

L "BODMAS Rule : This rule depicis the correct sequends in which the operations are
to be executed, so as to And out the valoe of & given cxpression.
Here, "B’ stands for "Brackef, ‘00 for "of", TV for "Division’, "M" for *Mualtiplication’,
A for "Addition’ and "8 for '‘Sublractiod".

Thusz, in simplifying an expression, first of all the brackets must be removed, strictly
in the order (), [} and [].

After removing the brackets, we must use the following operations siricily in the
arder !

(i) of (ii} Dhvision {47} Multiplication (fv) Additlon (v} Subtraction.

. Modulus of n Real Number : Modulus of a real number & (s defined as

[ a.if @ >0

l i, il @ = 0,
Thus, | S |=5and [=S |[=={= 5= &

IM. Virnaculum ior Bar) : When an expression contains Virnaculum, before applying the
‘BODMAS rule, we aimplily the expression under the Yirnaculum.

| & |

SOLVED EXAMPLES

Ex. 1. Simplify : (i) 5005 — 5000 + 10 i) 15600 + 470 + 20,

B0

Bol. () BOO6 = 000+ 10 = AH00G6 - = 5005 - 500 = 46056

. BB0D

(£} 18800 + 470 + 20 = +20 = 40+ 20 = &

Ex. 2. Simplify : b-1b -t +b) - b - (b - m — b} + 2] (Hotel Management, 2002)
Sal. Given expression = b—[b—{a = b-[b -k - g + &) + 2a)
B-=-a=b=(b-35+a)+ 3
b-[-a-{b-2b+a~+2Zall
b—l-a—-1-b+ 3all = b—l—n.-i—l':—ﬁnl

eb=[-da+b]l = b+da-b = 4a.
Ex. 3. What value will replace the question murk in the following equation T

ljr.ﬂlr?-ﬂ'j-uf{]!.
2 L 3 ]
4 14 7 &7
ﬂ-ﬂl. I-‘:!- — o — i
~ b x|
;- B E'?_|f5_19d '.r‘| S 08T 27+19+14]_|'ﬁ'r_a.n]
Li B 3 54 £ L5 6

67 A T 2
= Tl gt
ol [5 |

Hence, missing fraction = 3%

BT



Ouantitgtive Aptitude

Ex. 4. ﬁ-#;nf.nnnhrhpalmm gagff-m“thrnmunmbﬂrﬁrﬂ.

What is helf of that number 7 (S.B.1.PO. 2000}
Bol. Let the numbor bo x Then; - of 2 of x=tof Sof x = B + ~z-Dyws
15 T H b a | A6
4 g) &l - 567 i
= | —e—lr=Hf =5 — = —x =
TR oyl 1 s g o

bbbl 8 fs_“aﬁj]t 630 = 1i.gs
| 4 2
Henee, required nember = 315,

r - 1
AT [1 b fu 2T
Ex. 5. Simplify : 3‘ 1 1..1'4 5 "E: o E—J}l

. 13 |5 af5 3-2 [18: {5 w5 » 1)
Sel. Given exp. = | —+{—==]== e v
pat {-1 2l2” 12 ]|J |4 "]a 2lz2 |2j'r]
|1 [s _1fso-1yi] 13 (5 30|
1 |a" 2zl 12 _I]l ERURET
12 [a0-20)] 13, 2] [18_.,]
Er. 6. Simplify : 108+ 26 of L+ 2 x387,
¥ B g
. 7 18 108 13 13} 133 3
ol Givenexp = JIlBe s =X o= 2 e = [ [T 4 = | 5 o = [ T—
e Bt poe®. OG0 [ ‘o) 1. " P
7,88
Ex T. Simp}i&:?a—f—%as.ﬂ. {8.5.C. 1999)
2272
T2 8 21
ﬁﬂ_ 'ﬂi'l'E'l'L-ﬁp\. ;Lri—Z.*aﬂ:l—:—L-rE-aﬁ:E"-l_ﬂxE:E;E_
1.1 T3 100 10 14 525 14 7
g 4 g 16
Ex. B. Simplify : (i} 1208 = 54 « 0.6 (i Fx F+ . 65+85 (Bank PO 2003)

Bol. (i) Given exp. = liﬂﬂx% = 1208 x4 = 10845
[if) Given exp. = .ﬂn,ﬁrg = 36+ 1 = 46
Ex. 9, Find the value of x in each of the following squations -
(i) =———— = J (i) 364824 + 564884 + 1 = 364824 = J794. 1696

= I (.1 |
(iii) &£ - {FE - l_?i +28+ .t}j- x 4.25 + (0.2)* - 306. (Hotel Management, 1997)

T. :
R L—?:Erlﬁrﬂﬂ e AR

144 144
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J64 524

(£ = (J784. 1606 + 36.4624) - 364834 -~ JI6I0G6T - FG48D24 = 102412

J64.824 &
182412

(i) as—{. L?.E ﬂ]] ;ﬁ_vﬁ=ﬂs Jas [@}} "fﬁ = 306

= Y=

X

= THr = -y = 2R K
"y 5.5-[—”‘“ :i’ H}x%-ﬂﬂﬁ-ﬂﬁ {——}xlﬂhﬂﬁ-
- 3_5_[ ~2125x - 2975] A o DT RIREZ42OTE o
ki X
2975
= (A06-32lix = 2975 & & = = = 35
kS ‘ll,j":
Ex. lﬂ.ﬂ’—-—-— Wﬂ!mlﬂﬂfmﬂﬁ,
X
3 2 7
X ' i a6
+1 [E] +1 |2
Sol II*J'E.:-r [IJ* _[5]+1=E+]_Eixiﬁ_ﬁl
x* — = z &7 36 . 26 11 11
s = x =1 {_] =1 _EE 1
.'rj ¥ b
El-lLF‘inJ.rh.rmh:nfi—_ﬁr-—.
1+ 7
¥ —5
24—
d
Sol. Given exp. = 4~ ———— = 4 — 2 =4 &
o 1 e ] ———
YL | i @179
i%/4)
] 5 5 x 41 3 1
-4 -4 - e -g-— -,
148 (40/31) 40 8 B
+_
3l
Ex. 12. If ‘h'! = 1, then find the value of x
iy (MAT 1998)
I-x
S0l. We have : —j——l-:h__l—- L:
T 1+01-x)
T T /- =
1-x

i Ly w Rayxy = Jr=Z = 1:%.

Ex. 13. (i) If%-inmfﬂn*ﬂrc 22, then find l.ﬁtu.ltl-iﬂlfl. (R-R.B. 2002)

0 If f-—f—ET—’- = 1, Shin find the vadue of 5 (R.R.B. 2000)
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[+ d 4
E‘ﬂ.ﬂﬂg :—'rb E-ﬂ-.

Ba+Bh =2 = M+Ex%u=22 i sm%'in-ﬂ

=Hn=ﬁﬂdn=%-§.
i ;-“;3-1 o i‘-:%:_'ﬁf-: o Sr e s B el m xwi
Ex 14, If 2z + 3y = wm’;f ’.mmmmdm*h

(S.B.IPO. 2001)
Bol. The given equations are :

2y + 3y = 34

1
"I;." = Ea - EI"EJ"=]3.F = E-x-ﬁ_'n":U |..:iﬂ'

Multiplying (i) by &, (i) by 3 and adding, we gol : 34x = 170 or x = 5.
Fulting x= & in [i), we got @ y= 8,
Br+Tx=(5xB+7x5l=40 + 35 = TG
E:Mﬂ*ﬂr-r:i:n:-sﬁ.:fn —y=dand y—x+ 5= 12 then what are the values

of x, y and = 7 (Bank P.O. 2003)
Bol. ‘The given squations are :
e+ Ay +2=686 _{fl:x+vz=yud . li;¥y=x+z=13 vl AR
Bubtracting (/) from (), we gel : x + 4y = 51 i
Subtracting (i} from (f), we gel : 3x + 2y = 43 wA¥)

Multiplying (v} by 2 and subtracting (iv) from i, we gt : Sx =35 or x =7,
Pulting x = 7 in (iv), we get : 47 = 44 or ¥ & 11.
Putting x = T, ¥ = 11 in (i), we getl : z= 8.

. I I I
Ex. 16. Find the oail [I-—-— == J'-—] ..... J = — B.C. 2008
a1 o | i [, 5 [ 700 ) n )
s ; 2.8 4 ] ] 1
Bol. OCiven expresion = — K = X=X ..., X —— 8 —— 8 =
ded 5§ 100 100 50

I I 1 I
- + + + pwwma +——.
Ex8 J=4 4x5 Bx6 8= I0

Ex. 17. Find the value of

i \ i \
Sal. Gh?enexpre-snjun=|-1-—-]li+[] ll-—Ll l]f[l—l]-p.,,,_plrl_i
(2 3) \3a &) la B 9 10/

_(l_i”_i_ﬁ

2 10/ 10 §

Ex. 18, Simplify : 99 g " 245, (R.RB. 2000)

Bol. Given expression -[Im —]xm = — P40 = 4809 x § = 24405,

Ex 18. A board 7 ft. 9 inches loag is divided iniv 3 equal parts. What is the length
of each part? (Hotel Management, 2003)

Sol. Length of board = 7 it § inches = (7 = 12 + 9] inches = 93 inches.
Ltngthnftadtpaﬂzl%“ inches = 31 inches = € &, 7 inches.
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Ex 20. A man divides fs. 8600 among 5 sons, 4 daughters and 2 nephews. Iff sach
daunghter receives four Limes a8 mn a5 each nephew, and each son receives five times
as much as each nephew, how much does sach daughter receive T - (8.8.C. 2000)

Bal. Lot the share of ench nephew be s, =
Then, share of each daughter = Rs. (4x); share of each son = He (5x),
Gy, S5xBx+4xdx+ D xx=-58600 = My + 16x + 2x = S500
e 43r=8600 & x= 200
Share of each daughter = Ke. (4 = 200) = Rs. 800.

) 3
Ex. 21. A man spends 5 of his salary on house rent, 7o of his salary on food and

 §
I of his salary on conveyance. If he has Rs. 1400 laft with him, find his expenditure
on foeod and conveyanes.

2 3 1‘| 83 T
&1; F'Eﬂ I’tl‘m I ‘ﬁt = 1— e e— — = 1-_: —_
2 i [5 10" 8 40 40

Let the monthly salary be Be. x

ff
T]!Eﬂ.%nf:= 1400 o= :—i\lfﬂn“‘m

T
Expenditure on food = Ha. [-1%:- ﬂm}} u Rs 2400,

Expenditure on eonveyance = Rs [% M Eﬂﬂ'ﬂﬁl = Ra, 1000.
\ J

Ex. 22. A third of Arun’s marks in Mathematics exceeds a half of his marks in
English by 30. If he got 240 marks in the two subjects together, how many marks did
he got in English ?

Sol. Let Arun's marks in Mathematics and English be x and ¥ respectively.

Thm_%;;-—é_-.-:ﬂﬂ = Px-3y = 180 ,,,{ﬂl:dmj+11.l='2dﬂ 7
Balving () and (i), we gat ' x= 180 and ¥ = 60.
d
E:.Ea,dﬂuaf'nﬂwugﬁm. When § bottles of gil were taken out and four bottles
nfm‘!ﬂrepmndln!-uﬂ.flm%ﬁlf. How many bettles of cil can the tin contain?

| (Section Officers’, 2001)
Sol. Suppose x hottles can fill the tin completely.

Then.i.t—ix-ﬁﬁ—ﬂ‘.l o — =7 = =40,
] 4 20
Required number of bottles = 40.
1 .
Ex. 4. n";f of & pencil is black, rl of the remaining is white and the remainiog
3% em is blue, find the total leagth of the pencil.
Sol. Let the total length of the pencil be x em. Then,

[ f
Black Wﬂ'l% £, Rmﬂinhngmrt=!:—;1!tm-[%] cm.
3 \ ¥



Hence, total length of the peneil = 8 em,
Ex 25 In 2 eertain office, % of the workers are women, = of the women are

married aod ; of the married women have children. If : of the men are married and
=

3 of the married men have children, what part of workers are without -hildren ?
Sel. Let the total number of workers be %, Then,

f )
Mumber of women = % and number of men = =

Number of women having children = ; of E 1

of

L~

al
Number of men having children = -:l

il

‘)
2

ax
o o=

| A

3
Number of workers having children = 1—13-1-% —%.
wJ
r =
Workers having no children - ,':dTI]= s = 22 of all workers
i, 18 | 18 18
mmtﬁumthﬂn&wﬁrmanmwmm

crate. If 3 out of every 4 bruised mapgoes are congidered unsalable, and there are 12
unsalable mangoes in the crate, then how many mangoes are there in the crate 7

Sol. Let the total number of mangoes in the crate be x Then,

Ex. 26, A crate of m

Number of bruised mangoes = ;Er.

N (3_1 % 1
umber of unsalable mangoes = | = v — 5 |

= —,

L4 8307 ) 40

r

1
w: " 12 or x = (12 400 = 480

Hunna,tlh.tmlmh“ufman;m in the crate = 480,

E:.ﬁ,ahﬂn:mmlfufpumm.dl the first station, it drops cae-third of
the passengers and takes 280 mors. At the second station, it drops one-haif of the new
totel and takes 12 more. On arriving at the third station, it is found to have 248
passengers. Find the numbesr of passengers in the beginning.

Sol. Let the number of passengers in the beginning be x

d
After 1at station, number of passcngers = r;r%] + 280 = L%+EE{I].
L

i
After 2nd station, number of PARSEnEErs = %LJ—;WE.E&) + 12

;[?*EI}J-!-IIEHH % %+2ﬁﬂ—2:¢1’55 o %—IEE

3%

o ::[IEIEH— = 2E8,
2l
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a+ b
a-b
Bol. la+ bR =2+ P+ 2abe 17T +2Zx B =225 = a+hb=Ia
a=-bf =gt + F=2ab=11T=-2x 54 =8 = a-b=14
u:+_E| 15
u—h_?

Ex. 28 If ¢ 4 ¥ = 117 and ab = 64, then find the value of

=
= ok

f J ]
Ex. 206, Find the val Gfl_?ﬁﬂ'ﬂa?ﬁﬂﬂ.ﬂ‘ 459331:45933}

Tq‘lﬂ-ﬂi‘l’z—'d“;ﬁ-ﬁa ?— &
e 1 i -lq__ﬁ_-'_]_l where @ = 759983, b = 45983
{THIE3 - 4598 ta - &)
(a+ &) la = b 5
g 2T O T o (g + b)=(THRB3 + 45983 = 121966.
(g =
) (349 % 343« 343 - 113 x I13 < 118
. Fl.ﬂd u-!‘m ity i
= ©of | 545 - 343343 < 113+ 1137 113 |

Bal., Given expression =

- : (a® = &™) I
Sal. Given expression = —— —, whers o = 343 & =113
(er® 4 @b 4 67)
= la - & = (343 - 113 = 230,
Ex. 31. Village X has & pepulation of 68000, which is decreasing at the rate of 1200
par year Village ¥ hos # population of 42000, which is increasing st the rate of 800
par year In how many vears will the population of the two villages be equal 7

Sal. Let the poepulation of villages X and Y be cqual after p years.
Then, GRO00 - 1200p = 42000 + §00p => 2000p = 26000 = p= 14
S, their population will be equal afier 13 years.

Ex. 32. From a group of boys and girls, 15 girls leave. There are then loft 2 boys
for each girl. After this, 45 boys leave. There are then § girle for each boy. Find the
number of girls in the beginning.

Sol. Let at prosent there be x bays. Then, number of girle at present = Sx.
Before the bors had left - Number of bove = x + 45 and number of girls = Sx.
X4+ 45 = I xGx o= Bx=45 &= x=5
Hence. number of girls in the beginning - 5% + 15 = 28 + 15 = 40.

Ex. 33. An employer pays Bs. 20 for each day a worker works, and forfeits Rz. 3 for
sach day he is idle. At the end of 60 days, a worker gets Ks. 280. For how many days
did the worker remain idle 7

Bol. Suppese the worker remained idle for x days. Then, hie worksd for (80 - x) daye.
o0 (B0 - x} - Bk =280 = 1200 - Bew2B] = Zx =) = x = 4.
S, the worker remained dle for 40 daye,

Ex. 34, Kiran had 85 currency notes in all, some of which were of Re. 100
densmination and the remaining of Rs. 50 denomination. The total amount of all these
currency notes was Rs. 5000, How much mmount did she have in the dencmination of
Rs. 507 (R.BE.I. 2000)

Bol. Lat the number of S0-rupee notes be x

Then, the number of 100-rupse notes = (85 = Xl
Ely + 100 (85 — %) = 5000 & x+2(85-x=100 < x=T70
S0, required amount = Rs. (50 = T0) = He 3500.
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Ex. 35. When an amount was distributed among 14 boys, each of them got Rs. 80
more than the amount received by each boy when the same amount is distributed
equally among 18 boys. What was the amonnt ? (5.B.I.PD. 1998)

Sol. Lat the total amount be Rs. x Then,

x ¥ T
-]?-ﬁ-l:.!ﬂ:l 4= E_Hﬂ [ E:Eﬂ @ r = BF=E0 = 5040
Honce, total amount = Rs. 5040,

Ex. 36. Mr Bhaskar is on tour and he has Rs. 360 for his expeases. If he excsads
hig tour by 4 days, be must cut down his daily expenses by Rs. 3. For how many davs
is Mr. Bhaskar on tour 7

Sol. Suppose Mr. Bhaskar is on teur for x days. Then,

J‘?—Iﬂﬁ =3 = %_.'E_.:'I = ﬁ = rix+4)=dx13) = 480
& F+iz-d00=0 w» (x+2)(x-201a0 = x=70
Hence, Mr Bhaskar is on tour for 20 days.

Ex. ¥7. Two pens and three pencils cost Rs. 56, Four pens and & pencil cost Ra. 112
Find the cost of & pen and that of a peneil. (Bank F0. 2002)

Bol.” Let the cost of a pen and a pencil be Rs. x and Rs, ¥ respectively.

Then, 2x+ 3y =86 ..(Mand dx+ y= 112 _ i)
Selving (7} and (i), we get : £ = 25 and y = 12,
Cost of a pen = Rs. 25 and cost of a pencil - Rs. 12,

Ex. 38. Arun and Sajal are friends. Each bas some money. If Arun gives Rs, 50 to
Sajal, then Sajal will have twice the meney left with Arnn. But, if Sgjal gives Ks. 10
to Arun, thes Arun will have thrice as much as is left with Sajal. How muoch money
does each hava 7

Sol. Suppose Arun hms Rs x and Sajal has Ra. ¥ Then,
2(x-30=y+ 30 = 2Zxr-y=80 M)

and x+W=8ip=10 = x=3p=-40 [(if)
Selving (i} and (i), we get - x = 62 and v = 34.
Arun has Hs, 82 and Sajal has Re. 34.

Ex. 39. In a caravan, in addition te 50 hens thare are 45 goats and 8 camels with
some keepers. If the total number of feet be 224 more than the numbar of beads, find

the number of keepers. 4
Sel. Let the number of keepers be x Then,

Total number of beads = (50 + 45 + 8 + x = (103 + x).

Total number of feet = (45 + 5) = 4 + (50 + a) = 2 = (312 + 2a),
12+ 20 -(103 + 0 =224 = xa= 15

Hence, number of keepers = 15.

——-r————-———-—.____.____..-_-.._..___..___....____

(OBJECTIVE TYPE QUESTIONS)
Directions : Mark (v') against the correct answer :

L 100 +50w2=? (Bank PO, 2003)
{a) TG i 150 gl 200 {dh 300 () Mone of these
2. (3080 + B160) + 28 = 9 (B.5.R.B. 1888)
la) 320 () 440 (el 3320 (dy 3350 (el None of these
3 5004 + 130 -G =17 (B.B.I 2003)

(2} 24 R (ci 36 [d) 42 (el Mone of these
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4.

10.

1L

12,

14

15.

17.

18,

7500 + (1250 + 50) = 7

(a) 176 (b 300 (e 675 (d] 7525 (cd Mone of thess
(& « AH) » BBBANES = T {5.5.0. 2000
(&) BOBONS ik BOEOE0 i) B0E0ER {d) SE0RO0H
The value of 10071 + 11 of 18 1= ; (5.5.C. 1098)
(@) T i {c) 143 idl 169

1850 + 15+ T =17

{a) 12 ibl 58 (ch 122 {dh SBB (el Mone of thaso
o mwm{-— é){%} -7 (IGNOU, 2003)
(@]l = 30 (b = 15 (et 15 (o} 30

T L (Hotel Maagament, 2008)
{a) 28 o] E

) . 25 (gl 44 idy 308

A boy was asked to write the value of (2 = (82, He wrote it as 2592 The difference
betwern the sbtained and the actual value is ¢ "

(@) pora (b) 2 = 9% i 2% x 8 () 29 = 04
Z-[2=12-2@+2)]=? mnﬁdw.M]]
Lay =4 (b) 4 el B ' {d) WNone of these
The value of 26 =52 + 312 -2(5—-3) + &5 — 100 = 4 s : ({5.85.C. 2000}
i) & (b 23.25 (ch 23.75 {d) 25
B540 + 14 x 16 + 30 = T (B.5.R.B. 1398)
{a) 0.70 (b} 3525 (ch 4480 () SO0 (et None of these
100 = 10 = 100 + 2000 « 100 = 7 (E.R.B. 1908)
ia)} 29 by TBO {g) 920 (d) 970
What mathematical operation should come st the place of 7 in the equation :
STE-12+4+2=11L (R.E.B. 2003)
ek + h = (&) ® (dh +
If 45 — |28 = 187 = {15 = =}}] = 58, then = is equal o :
(&) — 29 (b} = 19 {c) 18 () 29 .
G+B6+6+B)+8

The value of Ty v ] is squal to:

- 4 6
fa} 1 (b = Ll i i Elﬁ

4+4xiB-6-8

=7 J.C.
123x6=146x5 {L.1.C. 2008)
(&)} & (b 2 (e 6.656 (dt 7.76
180x15-12<20
140 % &+ 2 55 ) (B.S.R.B. 1996)
4
) !‘. (b T (e} 2 id) 4 (@) Mone of these

Which of the following will come in place of both the question marks in Lhe [ollowing
pquation 7
IEE_:_IEM‘?-TJ:E &
T_BxG+™
fah 3 (b 14 (e) 16 (ar 17 {ed 18

1 (S.B.1.EO. 2001}



21. Simplify | 1B8-[6-(6+2(7- 8- 5)).

| o
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(RELB. 2003)

(d) 32
{B.5.C. 2003)

[

(8.8.C. 1998)
(d) 5

(Hotel Managewment, 2000)

13 11
i 5" ?
(8.8.C. 1993)

(d) 3.5
(Bank PO. 2003)

%
10—
o &l

{d) 45-1—

(2] 13 (b 15 fe) 27
28 Thevalue of 1+ [1+ 1+ 1 + 1 +(1+ 1«20 ig:
' 1 5

(a) 2 [ B 3 {eh 1

H=[5-(-3+2)]+2
23. Ewvaluate -
|3=3|=|E=8|+3

(a) 2 (b 3 (e 4
24. Which of the following pairs of fractions adds up to & number greater than 5 7

5 8 T 11 11
tald 3" 4 LBy i ] i
| N R | s
_m_ I'E*I*?*H-LE:“q“rm.
{m) 2 (b 2.5 icl 3
28 13-5%+3E.¢
2 29 2
8- } B =
lal (h Q-EI} {n} 'Iﬂs
1 1 1
30+ 30= =16~ = ?
27 m 3-(?3 ]E-E
(a) 34— B 352 () 352
L] i [

3

"
48. If[p| means the greatest integer less than or equal to p, then [—%J‘+[4%]+I3] i

equal o
ia) 4 (b1 B
28, f—-!-—v-.-!--hnqunlm.'
1 a
23) [3)
R, .
T 12
{ — e
al Ta -1 7
& &
L,
a %3
2 by
F: p t}ﬂ
1 l..l. -
I1. ]f3+2'.t 4, then =
o B
4) = (b 19
& 4 1 18
0 i OO
3z £+E_i+t TE i #i ed ta
2°'% 38 8 B B
] =10
fal i {bJT

lcl &

g =
() 12

- Hery

(g) = 2

(Section Officers’, 2003)

(d) T
(R.R.B. 1988)

{d) None of these

(8.5.C. 2004)

(d) 1



41.

42,

5-|2, 453 _[og. 2 1) It :
4*1 !.!._ 7 rl,'- ?JIJ:- If ogua

19 [i}] 23 47
[a) 1— by 2— 1 2= (d) 2=
a) 1= (b (o 22 3
11 1 1 § B3 ) .
m‘"“[”?*ﬁ'&)'”'“““’ -2 3wk the result i : (8.8.C. 000)
1 1 3 1
) () 3= = -
{a) Elﬂ 1] s (&) 310 L Elﬂ

Which of the following can bo used to compate {Mwl%}?

(a) I3I}n-h+[4=-c412) (b 134a4n}+[34n%]
i 1 1
i) Mﬁii]tf¢x4} i {31;1-2-]#[3011‘-}+Hx-i]
4
:"-ar‘;‘r iuf?.lnrqu? (Bank PO. 2003
[a) B3 il G2 () 96 Ll 104 {& MNone of these
E 1 'E -! = 7
2 56355*1;3312 ] (Bank PO. 2003}
(2) “EIE () 115% (¢} 240 (d) 683 (¢} None of these
Eur 16B% 16+ 547 = 549+ 0+235 (8.B.1 BD. 2000)
{a) 107 (b} 174 ich 188 id) 206 (g Wone of these
Find the value of * in the following :
R 1. 3 1
li*EHE-II“EI-ﬁ ':Ej.{:. m}
{a) 0006 (bl é" () 0.8 {dl 8
5% i ?% . (Hote] Management, 1998)
(ah 2 (b 3 (c) 4 id} None of these
Supply the two missing figures in arder indicated by x and ¥ in the given equation,
the fractions being in their lowest terms. (IGNOU, 2003)
ﬁl:ﬂ}IE -“J.“
x 4
{m) 3, 1 (by 3, 3 e 4, 1 {di &, 3
The difference of 11-36 and its reciprocal 15 equal to (M.A.T. 2002)
1 4 13
- — — of
(a) I'E- () 3 () T () Mome of thesa

. How many -%—3 are there in 31‘%‘?

[a) 300 (hy 400 {c) HO0 |d) Cannot be determined



47.

61

§7.

Cuanifalive Aptitude

E"iii'l'llcll: r‘lfl:rl"':LJ:l
is pa 5 |

&
3 1 s
(42} = (b} T (e 5 (d} Mone of these
. The smallest fraction which should be subtracted fiom tho sum of li. 2%, ﬁ%,
3% mfd i-l-:-'- to make the result a whole number s ;
B T 1
1] 1 .1} 12 (e 2 i 7
If xis a positive number, then which of the following fractions has the greatest value ?
£ x z+l x+ 32
{a) = 1] =11 i - i) Fam
By how much is three-fifth of 350 greater than four-seventh of 210 7
(a} D5 (b 110 {ed 120 (dl 210 (e84 Mone of thesa
{B.B.1L.PD. 2003)
By how much does” Ffﬂ exceed % T (Section Officers”, 2003)
1 3 3 5
4 b
If 3 of an estate be worth Ra. 16,800, then the value of 7 of the estate is ;
(m) Ra. 5000 ik Ks. 21,000 (& Ha. T2,000 {d] Hs. 90000
(8.5.C, 2002)
Two-fifth of one-fourth of three-seventh of & number is 15, What is half of that number *
{a) 94 (k) 96 ich 188 {dh 1596 (e} None of these

{(Bank PO. 1858)
One-fifth of 2 number exceeds one-seventh of the same by 10. The number is -

(a) 126 (b 160 (3 176 (d] 200
Ifx+ y=x"+ 3 - xp, then the value of & = 11 is : (8.8.C. 2003)
(a) 93 (k) 103 fed 113 (d) 121
lfd-b--—m:fb,ﬁndﬂuvﬂuuufa-iaa-n. (M.B.A. 2002)
2
(a) — 3 (b} — 1.5 {c} = 1 dl I
.H'a'ib-h—ﬂba—ab.thmﬁ-ﬁd-ﬁ:ﬂtiaqmluz {8.5.C. 1909)
fa) 28 (L) 24 (e) 26 (d} 28
Ifx& y=x + 2§ what is the valos of pif 4 & (3@ pl = 50 7 (N.LLET. 1987)

fa) 4 (B 7 i B (d) 12.5

Hesbs comans 222 for olf numbers sxcept 0, then (2 = bs s a b is equal
=

L1 0

g+l e il a+hbwar = ab + be + ca

fay @ b 1 £ 2y s # @y T
7 ie added to a certain number; the sum is multiplied by 5; the product is divided by
9 and 3 is subtracted from the quotivnt. The remainder left ig 12 The number i -
ia) 20 (i 30 (eh 20 1d) 60

(8.5.C. 2000)



Simplification 78

58.

61.

B o B 8 a1}y
P U - J= : : 1
ﬁqtllun-ﬂf[TnFIIHJ*[ET 34]1—1 (R.ERB. 2001)
20 - 5 19
i) 160 Abr1 [ 1 (dh ]J.ﬂﬁ
2-:42%;,11—; =7 _ (Hotel Management, 2001)
48 1 162
o (b l‘ (el T {d} None of these
1 1 1 2
B =t R [ N, Bank EO.
-izs-ria 33 3 L 1889)
T 33 1
— = 1] 15—
(a) T ] 13‘ {c) B idh 5
4335 T 189
— ] - = — Hotal Ma 2000
aTed 8 528 ; e —
() ¥ iby 2 (eh B (] Mone of these
L w3 1 1 1
5-— — —'l'? - — T
3 33 13 r35-|-15
1 1 1
(&) ].E (b} 25 (el 3: (d) Mone of these
g-12 gt a3 sl ot lan (8.8.C. 2002)
8 i1 i B
5 32
LA A= {dy @
L] 2 (b B (ch 81
5 6 8 4 4 1 7
L ST TS SN | P gEL e .
g gt gt it %
T i
(a) ry (b = el 1 (d) Mone of these
1 1
3.9 s 2 3 F.gl.5 .4
i rThal ol gy v A
2 3
F) 44 2 1
(a} 75 i bY Y (e 5 (d} B
T+11— of = \
A gtudent was asked ta salve the fFaction 5 and his answer was g By
2+l= y
¥ 3
how mueh was his answer wrong 7 (N.LET. 1887
1 1
{ar) 1 ) 55 (¢ Zap {d) None of these
1,98
Simplify : “EE% (C.B.1. 1998)
£ r2_1 pt
13 e 4+ 478 :
1 3 3 23
(&l &3 (b m ik 55 {d a4



Cluantitaiive Aptituds

A
T
| g o
B8. The simplified value of 'fﬁﬁﬁl' -5 is: (8.5.C. 2003)
g 3 3
(a) 0 (b} 2 & di 1
a a lch 3 [l
TR e |
L
89. Thé value of H—]i i
3*3% 2
(a) 1 (b} 12 (o 22 1d) 2
3 3
1 4 L
=z of =
70, i 5 8 ig equal Lo
4 l - 1 - i + 21 I]
a 5 LD [
;P | 7 1 1
L L 15= 21=
{a) 3 (b T (e 3 i) 5
1 .3 1 .1
rlgt Raas
TL. e 4 "'l—tr.ﬁ
eI =
dz+t  1oeag
1 1 P
(al -1E (b 15 {cl -:.E {dl None of theea
72, On smplhification, 3034 = (1002 + 20.04) 15 equal 1o ; (8.8.C. 20000
(3} 2543 (b) 2054 (¢} 2993 {dh 3029
78. 52416 + 1872 + 628 = 7
(&) 2.00664 ik B.38 {c) 9.08 {d) 9,80
74, a% of 1568 + 985,75 = 7+ 2455.50 - (S.B.LPO. 1998)
{(a) 10354.15 (b 10578.15 {€) 10802.15 {d) 11250.15
76, 5.8 x 2.5 « 0.6 x 6.75 + 13925 = 7 {Bank PO. 1998)
(s} 157.30 (b 167.80 (e} 158.40 {dh 180.30
W | 4
7R, ai-q?u. . 282 = 538
(ah 05 i 5 id B {di MNonc of these
77. The value of 0.008 x 0.01 % 0.0072 « (0.12 = 00004} is (5.8.C. 2002)
(&) 0.012 ih 012 {¢) 1.02 idh 1.2
T8, 2376 = 5.22 + 087 - 1425 w 002 = 7
(s} 0.142215 (b} 1.42215 (e} 14.2215 {d) Mone of these
T9. 0.2 + 02 =02+ 0.2 x (0.2 x 0.2), on simplification, gives :
() LM (b 0.2 {¢) 0.36 i 1
BD. 1L6+928 « 0464 - 0Z6268 ~ 007 = 7 (R.R.B. 1998
(&) 9.2 (b) 9.56 g 27.2 {d) 27.56

Bl 459=x18~36+54 nr%—% -

la) 2,696 b} 2.705 e} 3.106 {dl None of thwese



Simplification

B

83,

a5,

B4 E -84 7135
il et
825 af 7
2 i ]

lay 2— (b 2.75 (& &=

i) 3 f .
2002 + 7.0 128 -63(35-16)+ 156 =T
(&) 2002 ib) 4.2845 (el 40.843
04 - |24 {24 » 2 = (024 = T} = 220564
() 0.0024 (b} 0.024 {e) 0,34
3=018-132—(32+ 225 + 0] = 0,65 The value of x is :

ia} 0.3 (b} 0.7 (e 3

q
SET4 + 5874 x2- 5874« 2-; = TUET44

n

{d Mone of these

(5.5.C. 1997)
(d) 42 845

(i MNone ol these
(R.E.B. Z00Z)
{ed) 7

(@) 1 (b 2 (e & i) Mone of thess
54.27 = [12.84 — {(TLET = (5.41 = 2 — 1.654] = 38.33
{m) 2 () & icl 4 (dl Mone af thess
a2
e L ==l
'E of 7.26=0.48 of ? = B T
ta) E (b) 18 (e ts:.;- (d) Moo of these
What iz the value of {5+ $ if 2 71 (Hotel Management, 2000)
L
1 4 T
(a] 3 [ B} E ] 3 (. )
(i e g o | s 22 Ty (R.R.B. 2003)
¥ o 'F E}- 4-1__.'
3 1
(&) = ibi 1 el I= () 2
7 T
a 4 Bo+4b __ |
III'E - E1thr:nthr:ﬂluenf e is
(g} —1 ihy 3 (ch 4 {d) &
14
— _. alie - e
If 2}' . Ehi w nf o LA s
13 1
lad 19 (B 19 (e 1 idl 11-5;
i B e — g
I e R & - B then S
[ c IE &+t gt
{al é (b l_ (&) E {dl Mane of thess
1 el 4
If (a = b iz & more than (¢ + d) and (2 + b iz 3 less than (c - ), then (a8 — & is
{a) 0.5 (b 1 {ey 1.6 i} Mone of these
If = and y = 1 , then - (Bank EO. 2003)
-1 -



101.

102

108.

104,

1045,

Quantitative Aplitsde

(&) x is equal to p (b} xis equal to vonly il & < 1

{e) xis greater than y (d} x in proater than v eonly if & < 1

led ¥ is greater than x only if & < 1

If0<a <1, then the value ul'ui--!'- i= {B.B.C. 1997)

a
i2) lesg than 2 (b} greater than 2 (¢} lmes than 4 {d) greater than 4
. lh E -{ E E 1 “

K43 Iandy+{_71,ﬂmn1lw1b&uquu]lu- (C.D.5. 2003)
b ¥

(a) 0 U}}; () 1 d 5

If &, B e are integers; &° + B2 = 45 and " + & = 40, then the values of 8, b and ¢

respectively are :

(a) 2,8, 3 i 3.26 {0 5. 4.3 {dl None of thesa,
FE ol s the value of 2284€ (C.B.I 2003)
R T e
1
1|
) = (b Ja2 {c) 2 (e 7
[f8x+ 7= e P=7Tr+5 what is the value of P 7 (8.B.I.PO. 2000)
(a) % (&) a% o) B% (d) Cannet be determined
D by End e walun o R (8.5.C. 2002)
a + 4b a+ 2h
2 s i) 10
(a) = b 3 @ = ) 3
If (28 + 38) (2e - 3d) = (2 — 3B) (2 + 3d), then -
] ¢ _® o _d & L E
w = - {b:d : (o === td}ﬂ =
Hig+b+2c+8dla=b=3c+3d I =ig- b+ 2c=3d) (& + b - 2¢ = 3d), then The
ia equal to - (MAT 2003)
3 3a
(a) r (b o (& Zad () p2d®
The value of —‘-]_ i (8.8.C. 1909)
L= 5 g
2w
g-1
2
3 19 8 8
(&) 3 (b B ic 3 () T
Irﬂ-:i—i—:—.ﬂmumvu]uzuf:is: (S.5.C. 2003)
Lo
3+
4

13 18 21
17



Simplfication a3

106.

107,

1048,

109,

111

112,

113.

114.

FH-ﬁ
If _—IL = x. then the value of = la: (C.B.I 1988)
2+
PP
1+ =
4
1 3 5
(@) = (B 5 @1 (o) =
2l_12
3—31—5—11 is equal to : (8.8.C. 2002)
- D,
gl
[
{a) 2 (b 4 (¢l & idl &
& is gimplified to : {8.5.C. 2004°
F]
2+ E—KE.BEI
3+ 5
3+
3
@ 3 (b 2 (6 (d) None of these
Siaplify - . — (8.5.C. 2003}
l-lr—-—é—a
2. 8
14 =+ S
3 1-3
3,
11 13 13 15
{a) 1 (b n (e T {af) 3
I!I"-'E-2+ 11 ,whem:,y,znmmturﬂnmhﬂ.lhnn:.y.:m:
13 X4
¥
=
(a) 1,2 8 (B 1.5 2 8 & Z 11 id) 11, 2, &

(Assistant Grade, 1908)
Wx=1-gand y = 2g + 1, then for what value aof g, x is equal to v 7
1

{ah - 1 (b 0 e 5 id) Z
Find x if - = 4. (B.S.F. 2001)
H |

{a) — 120 (B = 100 & 100 () 120
I[h+5y=ﬂﬁnnd%.—%.ﬂmy-::? (Bank EO. 2002)
(8} 3 (B) 4 (T (d 11

Which of the following values of x and v satisfy the follewing equations T and I1 7
L3x+ y= 19 I x-y=9 (B.S.R.B. 2003)

(o} =7, -2 (b} = T, 2 {c} T, — 2 (dy 7,8



115.

116.

11T,

118,

119,

120,

121.

123,

124,

125,

127,

128,

Ouantilative Aptitude

If @ + b=35and 30 + 2b = 20, then (38 + b} will be : (M_B_A_ 1098)
{a) 10 (b 15 (e 20 [d) 25
M2+ 3g=18and 2p— g =2, then 2p + q = 7
{a) 8 i 7 (e} 10 (] 20
If2x+ y=5and 3x — 4y = 2, then the value of 2xv is ;
La) 4 (b 6 {c} B [y 10
(3
If x -5y =5 and — -;.l.hm what is the value of x- v ? (Bank PO. 2002)
I & .lF

{a) 3 (b 4 (el A (dy 8 (& MNone of thess
M dx+ 3y = 18xr and Zx~ By + 43 = 0, then the values of x and y will be respectively |

1 1 it | | 1 1
#) -—and - = b = a = and — gl — and —
L&) 7 3 [ 1 and I.rJE- . -1“3

IF2x+ p= 1T, y=22= 15 and x + y = B, then what is the value of 4x + 3y + 2 7
[a) 41 ibl 43 (ch 45 [ G {el Mone of these

(8.B.1.RO. 19959)
H3x—dy+z=T 2x— 2+ 3r= 1% x+ 2y + 2z - 24, then what is the value of 2 7

{a) 4 (b 5 icl 6 (d) B
T2+ p= 15, 2y + z = 25 and 2z + x = 26, what is the value of 27
(a) 4 {B) 7 (ch & {di 11
If2x + 3y =31, ¥y~ 2= 4 and ¥ + 2¢ = 11, then what iz the value of x + ¥+ 2 7
(2] 12 {bl 13 (ch 15 {d) 16
(Bank PO. 20030
| 15[ FAT 2 AT 121
=lle=ll1s=l1=={f1s2][1-25] = ¥
3]0 2)0-2) -2)- %) (Hotel Management, 2001)
1 1 1
(a) 5 i - (& [} (dl None of these
L ¥
When simplified, the product [1—%][1-%][1—%/] ..... [l—l-givm{E-E.{!. 2004)
nfr
1 2 2in- 1) 2
ia) A (b 2 i) BTt [ T
ﬁ-vﬂueaf[i+l]rl+]‘lfl+l [1 - .ll'l (5.5.C. 2003)
- g el R T — 2 ¥ .,
25 a4 4 120 |
(&) 30 (b 40,5 (e 0.5 [ah 121
i 1M o 3Wa 5) BE8 Y |
When simplified, the product |2 - ]‘EI—-".!!——! ..... [2——— ual to
[ 3 |k B 7 1001, ™
a9 1001 10HFE i
[a) 1001 (B 13 {c) 13 idl MNone nfll.h.:ue
s 1 1 1 1 1 1 1 I 1 1
Find the P — o b e b b o o
e AR TR TR TR R R TR T T
il 11 15 17
ia) 3 11| 12 (el iR [ T
ﬁlmmd'lhtﬁﬂlﬂﬁturmauﬂhuwﬁuul+l--l . a:lahl-h]-'-i--l---l-.-, is
-G SR R R TEE DRt iR R
1 1 i
(@i —= (b —= {ed = (dl Mone of these

2 3 3



Simplification 85

130.

131.

134.

1356.

137.

138.

141,

The value of m%uﬂm in : {8.8.C, 200a)
(a] Do0809 (b)) BRET9G {¢) 98550 {d) S99824
[mlf*m%*m§+ asm%+ m%+mn§] is simplified t0;  (5.5.C. 30080
[}
(a) 2007 (b)) 5979 (£ H9ad iy 5887
1 1 1 _

Th:rlluaﬁflquaJ d:u::'l-ﬂ-r-l;re?;g iB:

1 (b = y B of
[a) 108 1] 3 [ch 2 (g} Mone of Lheas

1 1 1 I
$ . equal to:

T23 334 345 456

T 11 13 17
{al 0 1.1 0 L] 30 fe 0
iy g T ks OIS (L RO | Qe T T LT B

P2 23 P& £F BE er 7H ¥ g

x y 2 101

Ll 100 LY -4 100 el 1 () 100
(5.8.C. 2004)

How may pieces of 85 cm length can be ¢ut from a rod 42.5 metres long 1
(] 30 by 40 {ch G0 {d) MNone of these
Tncome of a company doubles after every one year. If the initial income was Fz. 4 lakhs,
what would be the income after 5 years 7 (Bank P0O. 2003)
(a} Re. 1.24 crores ibi Rs. 1.28 crores (g) Bs.2.52 croms
(et Ha. 2.58 crores (o Mone of these

On sports day, if 30 children were made to etand in a eolumn, thon 16 columns could
be formed. If 24 children were made to stand in a eolumn, then how many columns
could be formed 7 (Hotel Managemant, 2002)
&) 20 (b)) 22 te) 29 (d) 45

The number of studonts in each section of a school Iz 24 After admitling new students,
three new eections were started, Now, the total number of sections is 16 and thore are
21 gtudents in each section. The number of new students admitted is

{a)l 14 (b} 24 (ch 48 idh 114

A elass starts at 10 a.m. and lasts till 1.27 p.m. Four perieds are held during this
interval. After every period, 5 minutes are given free to the students. The exact
duration of each perid iz @

(@} 42 minutes (k) 48 minutes (&) 51 minubes idl 53 minutes
A light was seen at intorvals of 13 scconds. 1t wag seen for the first time ok 1 he 54 min.
50 gece. a.m. and the last time at 8 hrs. 17 min. 49 secs. a.m. How many Liptae was
the lpght seen ? (A.A.0. Exam, 2003)
[a) F60 (by 375 ¢ [ch 378 (d) 224

A man earns Re 20 on the first day and spends Ra. 15 on the next day. He again earns
Hs 20 an the third day and spends Rs. 15 on the fourth day. If he continues to save
like this, how soon will he have Rs, 80 in hand ? (IGNOU, 2003)

{g) On 17th day (b1 Om 27th day {c} On 30th day {d) On 40th day



142.

143.

144,

146.

147.

148,

151.

152

153.

154,

Cuantitative Aptiude

It costs As. x each to make the first thousand copies of a compact dise and Rs. ¥ to
make sach subsequent copy. I z is greater than 1000, how much will it cost to make

# eophes of the sompoet dise 7 (R.R.B. 2001)
(@) =x - gy (B 1000x + yz
(c) 1000 (2 - ¥ + ¥z bd) 2000 (& — ¥) =+ x=

Along a yard 225 metres long, 26 trees are planted at equal distances, vne tree being
at each end of the yard. What is the distance between twe consecutive trees 7

{a) 8 metres (h & metres ic) 10 metres (e 15 rmetres
(R.E.B. 2002)
A boy was asked to multiply a number by 25. He instead multiplied the number by
52 and got the answer 324 more than the correct answer The number to be multiplied
was
(a) 12 (b} 15 {e) 25 (dl 32
A boy multiplied 423 by a number and obtamed 65582 as his answer. If both the fives
in the answer are wrong and all other figures are correct, the correet answer is ;
{a) G484 (B) 61189 () 62189 (d) 62383
The total monthly salary of 4 men and 2 women iz Rs 46,000, If 8 woman earns
Rs, 500 more than a man, what is the monthly salary of a woman 7
{a) Ra. 6500 (b} Rs. THOO {c? Rs. BOOD (d) Rs. S000
) {Bank PO. 1999)
David got two and & half times as many marks in English as in History If his total
marks in the two subjects are 140, the marks oblained by him in English are :
(a} 40 {bB) 75 Le) Qi (e} 100
{Apgistant Grade, 1908)
A pineapple costs Rs. 7 each. A watermelon costs Re. 5 each. X spends Re, 38 on these

fruits. The number of pineapples purchased is ; (M.B.A. 1888}
(a) & {b) 3 (ch 4 () Thatn inndaquate
The number of girls in a class is § times the number of bovs. Which of the fallowing
canmet be the total number of children in the class 7 (R.E.B. 2002
{a) 24 (b an Leh 35 id) 42 (# 54

Water beils at 212°F er 100°C and melts st 32°F or 0°C. If the temperature of &
particular day s 35*C, it is equivalent to (RR.B. 2000)
{a) 85°F (b B0*F (& O5°F idy 99°F

A gum of Re 750 is distributed among A, B, C and D in such & manner that A gets
a8 much as B and C together. B gets Rs. 125 more than C and D gets as much as
C. What is A's share 7

(2] Rs. 100 {b) Rs. 225 {e) Rs. 275 id) Rs. 325

A bonus of Re. 1000 is to be divided among three people so that Rohit receives berice
as much as Sachin, who receives one-fifth as much as Gagan. How much money should

Gagnn recoive 7

(a) Ks. 100 {by Rs. 260 (¢} Rs. 375 (d) Hs, 525
The total number of digits used in numbering the pages of a book having 366 pages,
i : (8.C.R.A. 1998)
{a) 732 (&) 990 (o} 1088 {d) 1305

A printer numbers the pages of a beok starting with | and uses 3189 digits in all.
How many pages does the book have 7 (M.A T 2009)
(&) 1000 b 1074 (¢} 1075 (cfy 10D

In a garden, there are 10 rows and 12 columns of mango trees. The distance betwean
the two trees is 2 metres and a distance of one metre is left from all sides of the
boundary of the garden. The length of the garden is :

(e} 20 m (b} 22 m (& 24 m idl 25 m



Smmplificaton a7

15T.

158.

156,

160.

161,

162,

164,

184.

165,

188,

What fraction of an hour 15 0 second
i | 1
{a) m b ﬁ igl EE (dh ﬁ

|
When a hall bounenz, i1 Flees to p of the height from which it fell. If the ball is dropped

from & height of 42 m, how high will it rige st Uhe thicd boones ¢ (8.8.0. 2000)
(a) 13 m ) I.Eé ™ (e w:-l£ m () Mook of these

Hanket earns twice s much in the month of March ag in each of the other montks
of the year. Whatl part of his ontire annual cornings was sarned in March 7

i ] 2 2
(@] = i b 8 el T [} E
If one-third of a tank holds 50 litres of water, then the guantity of water that half of
the tank halds is : (B.B.C. 19949)
(a) % litreg (b 1000 litres Led 120 Diteos {d) 240 litree

A person travels 3.5 km from place A o place B Out of this distance, he Lravels
3 E i
1*3— km on bicycle, ]E km on scooter and the rest on foot, What portion of the whole

distance does he cover on foot 7 (8.8.C. 2003)
3 4 1 ]
(a) 19 [ b ] {cl a7 (e} r

What fraction nr% must be added to itaslf to make the sum 1% 2 (8.8.C. 2002)

_'I_ 4 T 15
(a} 3 1 b 5 (&) g 5 1] 12
2 1 1
E!l:l:d‘r:luu i ol :— of Rz 2520 sz u Menciosn of !:ﬂ‘ ol Hs 38,
<) 0 7 11
(&) B (bl l_.i (e ﬁ idl E

A TO em long wire is to be cul inte two picces sech thoat one piece will be E as long
a

az the sther How many eentimeires will the shorter piess he ©

{a) 10 (bl 14 (ch 20 id) 28

a 1
A pertain amount iz distributed among A, B and C. A gets T and B gets y of tha
whole amount. If C gets Re. 81, then B gots ;

(o) Rs, 30 (b} Rs. 32 [ed Rs. 36 id) Rs. 40

1 ) 1 1 1 1 5

10 of & pole i3 coloured red. 20 white, 0 blue. Fro black, 0 violek, 50 vellow
and the rest is green. IF the length of the green portion of the pole is 12.08 metres,
then the length of the pole is - (8.5.C. 2004)
{a) 16 m (B} 18 m lek 200 m igl 3 m

3
In an examination. a student was asked to fnd g of a certain number. By mistake,

3
he found ;" of that number His answer was 150 more than (he correct answer, The

number is (R.R.B. 2Z003)
(al 180 {B1 240 el 2RO iy 20D



167.

168,

188,

170.

171

178

173.

174

175

176.

Cheantitative  Aptitude

3
A student was asked to find the value of 5 O a sum of money. The student made

3
a mistake by dividing the sum by r and thes got an answer which excesdsd the
correct answer by Bs, 55, The correcl answer was :
{a) Hs, © (Bb) Rs. 18 (ed He. 24 {d) Rs. 684
If we multiply & fraction by iisell and divide the peoduet by ite reciproeal, the fraction

Lhus abiained is 152'—?. The original fraction is ;

4 1 2
La) o7 by 15 ek 25 id) Mone of these

The marks scored in an examination are converted from 50 to 10 for the purpose of
internal azsessment. The highest marks were 47 and the lowest were 14, The difference
between the maximuom and the minimum internal asscssment scores is -
(a) 3.3 (b} 4.8 (e) 6.6 (d) T4

(5.5.C. 2000;
Onwe-third of Rahul's savings in National Savings Certificate is equal to one-half of his
savings in Public Provident Fund. If he has Rs. 1,50,000 as total savinge, how much
has he saved in Public Provident Fund 7 (Bank PO. 2002)
(&l Fa. 30,000 (b Rs. 50,000 (e} Rs. G000 {a) He. 90000

1
In a fl'IIII.l}!. the father tock i of the eake and he had 3 times az much az eack of

the other membera had. The total number of family members is :
(al 3 (b} 7 (&} 10 idh 12

§
A waiter's salary consists of his salary and tips. During one week his tips were —

4
of his salary What fraction of his income came from tips ?

4 5 Ep b
(&) 9 i) 1 Fol] - (d) 5

2
A sum of Rs. 1360 has been divided among A, B and C such that A gets 3 of what
1
B gets and B gets 3 of what C gete. B's share is : (M.A.T. 2002)
tay R=, 120 b} Kz 160 (e} Rs. 240 (d} Rs. 300

2
Three friends had dinner al a restaurant. When the bill was received, Amita paid 3

1
az much as Vesna paid and Veena paid 7 4s much a8 Tanya paid. What fraction of
the bill did Veena pay 7

4 3 [ T i) 2 i 5

1

3 of a tank holds 135 litres of water What part of the tank is full if i contains

180 litres of water ¥ (8.8.C. 1999)
1 1 2 -

[a} & ] 1] 3 [ch 3 {dh 5

2 B
A tank is s full. If 16 litres of water i added to the tank, it becomes 7 full. The

capacity of the tank is :
{a) 28 litres : (b} 32 litres (el 35 litres (=42 litres



Simplilication a3

177.

178,

179,

181.

1B3.

184,

The fluid contained in a bucket can fill four large bottles or seven small bottles. A full
large bottle is used to fill an empty small bottle. Whist fraetion of the Ousd is left over

in the large bottle when the small one is full ? (DM R.C. 2003)
L 3 4 b
fal = [ B = (g} 7 id) 0

To fill a tank, 25 buckets of water is required. How many buckets of water will be
required to 1l the same tank if the capacity of the bucket is reduced to two-fifth of

il present ¥ (R.B.I. 2003
(@) 10 (b 35 {ch EELE
id) Cannol be determined (¢t Mone ol these

Peter pave one-fourth of the amoant he had to Michael. Michael in turn gave half of
what he received from Peter to Sam. If the difference between the remaining ameant
with Peier and the amount receved by Sam is Ks. 500, how much money did Michael

receive from Peter 7 (6.B.1.RO. 1999)
(a) Rs. 100 (b Ms. 200 (el Re. 400
(el Ihita inadequaie ied Mone of theas

Four children A, B, C and D divide a bag of sweets. A takes ; of them, B Et.hnﬂhe

remainder and the rest is equally shared bebween O and [ What frm:Lnl:l of the

sweets did C or I get ?
1

(a) ; i

4
A boy read g-!h of a book on one day and Eth of the remainder on another day If

there were 30 pages unread, how many pages did the book contain 7 ([LM.T. 2002)
(o) 240 (b 300 ek 600 {d) None of thees
A man has disvnded his totel maney in his will in such & way that hall of it gees to

1
{dy ==

(cr 5 7

]

o | =

his wifl, %rd of the remaining amoeng his three sons equally and the rest among his
four daughters equally. If ench daughter gets Rs. 20,000, how much money will each

sn goet T {8.B.I.P0O. 2000)
ia) Rs. 4823333 (b Hs. 50.333.33 (e} Ha 5333333
() Dhata inadequate Leér None of these
1 1
Ar institule crganised a fete and 3 af the girle and B of the bove participated in
the same. What fraction of the total number of students teok part s the feoe T
= 13
ial T [ w0 (¢} Data madequate &) Mone of tUhesos

(N.LET. 2000)

1
AL an International Dhnner, 3 of the people attending were French men. If the number

2
of French women at the dinner was 5 Broater than the number of French men, and

there were no ather French pranr' al the -l:li.rml.':', Lthen what fraction of the Frtl}pli." at
the dinner were not French 7 (M B.A_ 2003)

1 2 2
(ml = i = ich 3 iy —

B ]



185,

187,

184,

188,

190.

191.

182.

163.

Cuantiative Aplitude

3 2 1
In & class, I of the stodents are girls and rest are boys, If ry af the girls and ry af

the boys are absent. what part of the total number of students is present ?
17 18 2=
fal E (bl ;5 fich ‘ETEI- {1 Tﬁ

One-third of the bovs and one-half of the girls of a college participated in & social work
projeet. [f the number of participating students i 300 out of which 106 are boye, what
iz the total number of students in the college 7 (Bank PO. 20400)

Cak SO0 (kY |00 [ch 70D (d} B0
3 2
To win an election, a candidate needs ry of the voles cast. If after 3 of the votes have

been counted, a candidate has % of what he needs, then what part of the remaining
votes does he etill need 7

1 4 1 1
I:a.'r E [f1] E [ E (e} T

In an oflice, -f— of the stall can neither b nor ake shorthand. However, %th can Lyps
a

and %rrj can take shorthand, What part of the whole staff can do both 7

1 3 1 17
L} 5 L] I L m (d} w0

The churgos of hired cor wre Bs. 4 per km for the first 80 km, Rs. 5 per km for the
next 80 km and Ha. 8 for every 5 km for further journey If the balance amount left
over with Rohit is one-fourth of what he paid towards the charges of the hired car for
travelling 320 km, how much money did he have initially with him 7

{2} Rs. 1075 ik Rs. 1255 (¢* Re. 1540 (d} None of thesp
A fires 5 shots to B 3 but A kills coly once in 3 shots while B kills once in 2 shots
When B has missed 27 Limes, A has killed - (C.HB.1 1987)
{x) 30 birds &) 60 birds ey T2 birds i} 80 birds

If every 2 out of 3 readymade chirtz nead alterations in the collar, every 3 out of 4
need alterations in the sleeves, and every 4 out of 5 need it in the body, how many
alterations will be required for G shirgs ?

(&) 24 (b 123 ey 133 (dy 143

The sum af three fractions = E%. When the largest Fraction & divided by the srallest,

7 1
the fraction thus eblained iz E which is E more than the middle one. The frastions

ang |

rdy '3 ol 2
i) 5- .r,-l 3
Une test tube contains some acid and another test tube contains an egual quantity
of waler, To prepare & solution, 20 grams of the acid is poured inte the second test
tubg, Then, two-thirds of the so-formed solution is poured from the second fube into
the first. If ihe Auid in first test tube is four times that in the second, what quantity
of water was taken initially ?

{ i

|l

i % id) Mone of thess

| ba

| =a

fich

| =2
o | S

(&l 40 grams i G0 grams [eh B grams (g} 100 grams



Simplification a1

194,

184,

196.

197.

198,

198,

201.

202,

From o number of apples, a4 man =clls half the number of existing apples plus 1 te

the first customer, sells érd af the remaining apples plug 1 to the gecond customer

1
and Eth of the remaining apples plus 1 to the third custorner He then finds that he

has 3 apples left. How many apples did he have originally 7
(a) 15 (b) 18 te) 20 (d) 25

(H56 + 1671 + (856 - 167 _

=
B56 = B5E + 1687 = 167 )
(a) 1 ib) 2 () 685 (o) 1023
(469 + 174 — (469 -174°
168174 = (M.B.A. 2002)
(&) 2 by 4 (& 205 () 643
Ifa=b=3and a* + ¥ = 29, find the value of ab. (R.R.B. 20083)
(&) 10 (h) 12 (e} 15 {d] I8
S
wELl o iiza? (Bank PO. 2000)
4+l
{a] O iby 1 ich &
{d) Cannot be determined (e Mane of these
2 2
[a%] -[2%] 3 _ 5l
a 5 g i g (Hotel Management, 2001)
i A e
{d 4] [331 1+ 3
! iy o imy 23 :
{a) a7 i 37 o lﬁ () Mone of thess
1ot 14 1-11 T, | P
PO 1+ — O S | T
. The simplified value of L LrA S R 100 is:
34 1 iga 1 ]
1e =]
1040 S 1M} &
2l 20x2
fa) 100 (b T {ch 200 {d 00
(B.8.C. 2003}
Ifa+ bee=13 84 + ¥ & & = 80, then find ab + be + o (B.S.F 2001)
{g) = G5O ikl Gl {c} BY {d] Th
2 =
r *f‘ﬁ 5 = =2 and x + ¥ = 3z, then the value of z is:
Y = ¥E - ax
(o) 2 ihi 3 (ch 4 (dfl Mone of these
(Hote]l Management, 1993)
| 7302 T8 » 785 + 436 x 435 x 435 simplifies o - (5.5.C. 2000}

L TEBEx TBE + 435 = 435 = TS x 435
{a) 350 (b 78BS {ci 1220 {d) 1320



7.

210,

211

213.

213.

214.

Quantiative Aptbsds

T4T = 147 + 1472 143 ¢ uij._r_!qﬁ\ i g
147 = 147 x 147 - 143 = 145 x 143, Tl (AAO Exam, 2003}

1 1
&) 3 i) 280 (ch P (d) 4
138 + 7 -
(18X + 7T =7
(=] & ib) 20 (el 61 (o) MNane of Uhese
3y [2*’
The value of 20 ‘30 4, (8.8.C. 2008)
fﬁ] [3_"-
L5 5
1 19 A |
— R —_—
&) 5 i b} T ic) o (d) 1
X B AR+ B 3+ PR 2R o« BR - R 34w B |
is ooqual o -
B AR #3434 + 2B EE = 38w 34 = 34 o 28 = 38 x 2H
(&) 24 (b} 32 {e) 44 (o) 100
(it Dol ROt LY (R L
The value of lx— i y—2l” +i2 - &) iz equal Lo
Mz =-yy=zllz=-x)
| 1
(&l O i b o le) 3 idy 1

The highest score in an ioning was ﬁ of the total and the next highest was Tl's"l' of
the remainder. If the seores differed by 8, the total seore was !
a1 110 (b 121 fo 134 gl 143
Rahul owes Hs. X and gives a Bs. 50 pote in payment. He reccives the following
change : 3X fifty-paise coing, 14 ten-paise coing and 4X fve-paise coins. X is equal to:
i) 12 | (b} 16 icl 18 (g 22
David gets on the elevator at the 11th Noeor of a building and rides up at the rate of
57 Noors per minute, At the same time, Albert gelz on an elevator at the 51st floor
of the same bullding and rdes down al the rale of & Qoors per minote. 17 they
conlinue iravelling ai these mics, then at which floor will their paths eross 7
fa) 18 ih} 28 (el Eh idy 37

(M.B.A. 2003)

N number of persons decided to raise RBs. 3 lakhs by equal contnbutions from each
Had they contributed Rs. 50 each extra, the contribution would have been Hs. 3.25

lakhs. How many persons are there 7 (Bank PO, 2003)
{ar] 40H) ifh 4510 Lo LK)
{d) Cannot be determined {ed Mone of Lhe=e

Free nolebooks were distribated equally among children af a elasa. The number af
notebooks each child got wag one-sighth of the number of children. Had the number
of children been half, each child would have got 16 noicbooks. Total hew many
noteboeks were distribuied {Bank PO. 2003)
lal 208 & 432 (e 12 ladd R4 {2 Mone of thess
A classrooim has equal number of bovs and girls, Eight girls left to play kho-kho,
lenving twice as many bovs as girls in the classmoom,. What was the total number of
girls and boys present initially ? (5.B.I.LEO. 2000)
gl e iy 24 (o 32

id) Cannot be determined g} None of these



Simplification 83

215.

215,

217.

218,

218.

221

222,

225,

228,

After distributing the sweels equally among 25 children, 8 sweets remain. Had the
number of children been 28, 22 swents would have been left after equally distributing.
What was the islal number of sweets ?
la) 328 (b 348 ic) 358 (d} Datainadequate
[n a regular week, there are 5 working days and for each day, the working hours are
8 A man geis Rs. 240 per hour for regular work and Re. 5.20 per hours for overtime.
If he earns Rs. 432 in 4 weeks, then how many hours does he work for 7
{al 150 (b 176 {c) 180 (d) 196
(Bank PO. 2003)

A sum of Re. 312 was divided among 100 boyvs and girls in such a way that each boy
geta Ha. 360 and each g‘l.l'! Ra. 2.40. The number of girls is -
{a) 35 bl 40 {eh B0 (dl &%

(A.A0Q. Exam, 2003)
Each boy contributed rupees equal to the number of girls and each girl contributed
rupees equil to the number of boye in a class of 60 students, If the total contribution
thus collected is Rs. 1600, how many boys are there in Uw cluss 7
(a) 25 . (L) A0 fed B0 () Data {nadequate
A worker may claim Rs, 1.50 for each km which he travels by taxi and 50 p for each
bk he drives his own car, If in one week he claimed Ks 50 for travelling 80 km, how
many kms did he travel by taxi 7
(o} 10 (b 20 ich 30 {dh 40
In an examination, a student scores 4 marks for every correct answer and loses 1 mark
for every wrong answer, If he attempts in all 50 questions and secures 130 marks, the
number of questions he attempts correctly, is ; (L.1.C. A.A.Q 2003)
{a) 35 (b 38 1t 40 id) 42
A cricket team won 3 matches more than thay lost. If a win gives them 2 points and
loas i— 1) point, kow many matches, in all, have they played il their score is 23 7

(8.8.C. 2000)
(a) 17 (bl 20 ie] 37 d) 40,
A total of 324 epins of 20 patse and 25 paise make a sum of Bz 71, The number of
-paize colng iz (M.LET. 2003)
(a) 120 b 124 el 144 id} 200

A man has Hs. 480 in the denominations of one-rupes notes, ﬁva—nlpuee notes and
Leni-rupet notes. The number of potes of each denomination is equal. What is the total

number of notes that he has 7 (M.A.T. 2002}
18] 45 (b 60 icl 75 {d] 50
Eight prople are planning te share equally the cost of a rental car. If one persen

withdraws from the arrangement and the others zhare equally the entire cost of the
car, then the share of each of the remaining persons mereased by ;  (M.B.A. 2002)

e % (b % (&) -'-}5 (d) %
On Children's Day, sweets were to be egually distributed among 175 children in 2
school. Actually on the Children’s Day, 35 children were absent and therefore each child
got 4 sweels extry. Total how moany sweels woere gvailable for distribution ?
(ar 2400 (B 2480 (¢} 2680 (ah 2750 {00 Mone of Unese
(Bank PO. 20:{3)
A number of friends decided to go on a picnic and planned Lo spend He. 98 on eatables,
Four of them, however, did not turn up. As a consequence, the remaining ones had to
coniribute Hs. 4 each exwira. The nuniber of those who attended the pienic was :

(ml P ih12 (& 16 (efy 24



227,

228,

220,

231.

232.

IaT.

238.

Cluanfitative Apfitude

A certain number of lennis balls were purchaned for Rz 450, Five more ballz could
have been purchased in the same amount if each ball was cheaper by Rs. 15. The
number of balls purchased was ¢ (Bank PO, 19%9)
La) RO} (b 15 ic 20 (dh 26

A mece of cloth costs Hs. 35, IT the length of the p:im:e would have been 4 m longer
and sach metre coste Re, 1 less, tho cost would have remained unchanged. How long
is the pices 7

{a) B m by 10 m (el 12 m (dt 14 m

The price of 10 chairs iz equal to thal of 4 tables. The price of 15 chairs and 2 tables
together is Rs. 4000, The total price of 12 chairs and 3 tables is :  (5.5.C. 2002)

tad Hs, 3500 by Hs. AT50 (c) Re. 3540 (d} Rs. 3900

In & eertain shop, 9 oranges cost os much as 5 apples, 5 apples cost as much as 3
mangoas and 4 mangoes enst a8 much as 9 lemens. If 3 lemons cost Rs. 4.80, the price
af nm orange is ¢

(a} Rs. 1.20 {b) Ra. 1.30 (ch Ra. 1.40 (dh R=, 1.50

The price of 2 sarees and 4 shirs is Rs. 1600. With the same money one can buy 1
saree knd 6 shirts, If one waniz to buy 12 shirts, how much shall he have to pay ?

(2} Re. 1200 (bl Rs. 2400 (et K= 48500
[l Cannol be determaned igd Mone of thess (Bank PO, 204020

If 2 tables and 3 chairs cost Rs. 3600 and 3 tables and 2 chairs cost Rs. 4000, then
how much does o table cost ? {Hotel Management, 2003)
(ai Rz, 500 (bl Bs. 750 {¢l Re, 1004 idl Hs. 1500
The taxi charges in o cily comprise of o fixed charge, together with the charge of the
distanee covercd. For a journey of 16 km, the charges paid are Rs. 156 and for a journey
of 24 km, the charges paid are Rs. 204. What will a person have to pay for travelling
a distance of 30 km ?

fa) R=. 2268 (h) s, 240 el Ra. 248 id) K= 253

. In a elagsroom, il & eludents per bonch are assigned to accommadate ail students, one

more beneh will be required. However, if 7 students are accommaodated per bench, Lhere
would be g space left for 5 siudests. What is the numbar of students in the class ?

i&} &0 (b 42 icl T2 (dl MNene of these

(8.5.C. 2000)
There are two examination roems A and B IF 10 students are sent from A ta B, then
the number of students in cach room is the same. [T 90 candidates ore sent from B

to A, then the number of students in A i3 double the fumber of students in B, The
number of students in reom A is - (M.A.T. 2002)

(a) &0 b} B ieh 100 d) 200

In & group of buffaloes and ducks, the number of legs are 24 more than twice the
number of heads. What i the pumber of buffalees in the group 7 (RE.B. 2002

fal 6 (b1 & ey 10 idy 12
A man haz gome hens and cows I the numbor of heads be 48 and the nember of Teet
enuals 140, then the number of henz will ba ¢ (HLE.H. 2003)
fad 22 )AL e 24 idl 26

Vidushi and Sanya distribute Bs. 100 each in charity. Vidushi distribotes money Lo
& more people than Sanya and Sanya gives each Re. 1 more than Vidushi, How many
people are recipients of the charity ?

fal 45 (B G0 (c) B0 idl MNone of these

s s e e e e T T T T S e e e e e e e e e e — —



Simplication a5

ANSWERS

Lid 2(8 8 4 GH@ Gl T AId
9 (a) W.(al 1Lid 12 {7 12 (s 14ic 18 18 (2
17. (0 18 () 18.{c0 20 () 2L (¢ 22 (b 23 24 (o
25 fa) 28, () BT (M 28.4{c 28 (d) B0 I} 31 (B ZE (a}

3. ¢d 3. (d A6 {d) B8 {8 37. (s BB (a) 3B {d) 0. (al}
41. (hl &2, (] i, (a) a4, (b 48, (m] 48, irl 4T, {ad 48 L
48, (ar BO. (& B1. (c¢ B2 (b} B8 (a8 B4 ix) BB (¢ B6 1)
6T.a}) B8 (0 68.(dy 60 (d 6L (K 62 idi &3 (b 64 (&
65 i) G (1 67.(8 68 {a! 68 (cf Thick TL {al T& (B
Mg MM T T T T8 ik 79 i 80 i
8l /a) 82 (a8 B3 (dh B4 (a0 85 (3 BE (3 BT.{dh A8 (B
Bo it S0k 91k 92 (s 02 (W 94 (g G6 {8 08 (B
97. & B& (& 99 (¢ 100 (b 101 (ah 10Z (x) 108 {c) 104 (ad
106, (4 108. (cd 107. () 108. {d} 108. (B 110 (&) 111 ik} 112 i)

133, (b 114, i 116 (b 118 i 119, () 118 (&) 118 i 130 (&
121, by 122 (1l 128 (b 124 i) 135 (8) 136 (cr 12T (ah 128 (&
129, (bp 130, (1 131, «ob 132 (ad 1EA (m) LA, (b)) 136, 1) 1360 (I
137. (a) 138, (b 138, (& 140 4ah 141, (3) B4Z (ev 143 (00 144, (@)
145, (a) 146. (0 147.(dh 148. 10 148, i@ 160, (gr 151, 181 152 (&)
153, (by 164, (B 165, (b 1856 (dh 157. (B 188, (d) 189 ic] 160 (c
161. (¢ 182, (b 163, (cb 164, (o) 165 (m) 168 icd 18T, (a2l 188 (¢
168 {1 170, (& 171 (c* 172 (g 173 (= ITd. (b 176 (b0 IVE. (o
177, (b 1T, (b 179 (& 1B0. (B} 181 (@) 182, (e 183, (o) 184 (ah
185. {g) 184. (b 1BT. (M 1B8. (d) 188 (a) 180, (2) 181 {e 192 (B
183, (ay 184 (b 1886 (b 188 (b} 187. (al 188 ied 188, (b 300, ()
201. (bp 2008, (o 20A. (ch 204 (x 206, (o 206, (& 207, ) 208 (o
Sl (B 240, (b Zil. (o ZAE & 218 (5 214, (2 ES (00 Z16. (W)
217. (b Z1R. (b Z19. (m) 22O, (b T2L. (e ZEE (B 2R, (d) 224, (a)
225 (e 224, (b 227, 1a) 228 (b L (g B30, (20 231 b Z3E (el
233 (v ZB4. (eb 235, I 3G, (dh 28%. (dr Z3B. (al

s s Sam e S S s S S s S S s SRS S s s SEms Sms EEEE R EEm e e s e — —

1. Civen expression = 100 + 100 = 200
2. (iven expression = 9340 + I8 = 430,
3

(liven expression = %i;; =8 = 3-8 = H.

4. Civen expression = 7500 4 25 = THIS
B 1
§. iven expression = Rk HERROER j—leei'-HHDHH BOB0OE,

6, Lrven expression = 10401 & 143 = 7.

7. Given expression — %-—T— 84+7 = 12.

B, Oiven expression = 5#4#2'#-1-'*::-31:—153
2 4/



Quantitative Aplitude

E.Lut]"—lﬂﬂ Then, 1lx = 7TTx4 or x =
. 2% w & = 32 w §1 = 587
1. Givenexp. = 2 - [2 - (2 -2 x4}l = 2 = [2 - |2 - B}] = 2 - [2 = [~ &]]
=2 - |24+6]=2-8=-
12. Givenexp. = 25 — 5 2+ 3 [2-2x2 + 5] - 10] = 4
=35 -G[2+32-4+hHl-10]24=2-5[2+3=3F-10§ = 4
=25 =K (2+9-10 +d4d=25-0+4=20 - 128 = 237
13. Given exp. = 260 = 16 + 340 = 4160 + 340 = 4500
14. Given cxp. = 100 = 10 = 100 + 20 = 1000 — 100 + 20 = 1020 — 100 = S30,
15 Lt Z w6 - 1224 + 2w ]l Then, 28 -3+ 2=11 = 2x6=11+3_2=19
S0, ¥ must be replaced by '
16. Let 45 - [28 — {37 - (156 — xll] = 68,
Then, 45 - (28 - 37T - 15 + &) = 58 = 45 - |28 — |22 + &1 = £8
o 4 = [P =Bl = xl =m0 @ 45 =|6- =58 e 45-8+ x = 5H
= _E-ﬂi_tn.'iE'r = = 58 =39= I8
48 _ 4

= 28,

"r.r:-ul']
11

—

I D e
e e P ST
. 4+T2-6-8B T6-14 62
18, Given oxp. — = = = = T.7B.
P~ 38— 730 8 8
19. Given rcxp. = U GRS S0 _ 3,

1120+ 110 1230
188 = 16x x—-Tw @
sk T -Bubas®
Then, Bx =T x 248 -4 + ¥ =@ Br-4=1+2 = =—-8x+15=10
= (x-%Nix-58=0 & x=3orx=§
2l. Givenexp. = 18- [§ - +2{7 -3 =18 =[5 - 18 + 2 x 4]
= 1B=[G=G+Hl=-18-6-14l =18 - -9) = 18 + O = 27,

22. Given exp. = 1-[1414{1 t]+{l+%)}j = 1+[1+1+[1+1+%”

. | { 2}‘ [ .' 2]‘
I+1sl+s1u=s=1#|l+1l+{1+=
b 3J 1- a[

g8

—1+[]1]1E =1= 14-1_14:E -:|_+J|I+E :]+—-‘_I_:¢E:E_
] 3 5 | & 5 G

-[6-(-11+2 B-15+1]-2 B-
EEI—I—HE 3 2 d+4 2-1
_B+8 28 5 T 11_385+33 68
1212 a2 3 B 15 15

i

oo Given oXp, =

u Sogl B T8 106 M
48 1B W 1 5 ¢ & 30 30
B8+M4+Teds2+1 5B

25, Given exp.

28 8
. 7 16 17 105+320+204 629 29
26. Given exp. = ~ + — 4 — = = 52 022
e X &0 80 80
. 41 91 91 [(123+182) 81 306 81 214 10T .2
27. Given exp. = — 4 o —-[—-— B L O T e
T § J 8 6 6 6 @ 3



Simplification

28. Given exp. == 1l + 4 + 3 = G
1 1 &3 & 7
B. Given @p. = St GO 7T T
8, et S 20 by
3
3 15 25 |f:n=. 26 44 105-BR 17
'111 =————I=——— l E — — ] — T —
- 5 8 Lo ) B 9 18 18
1 1 2+ 27 § 24-5 1% &
1. - 4 - | = 4 | Illl-d - - =
.o 13" 2, "8 | & 8 T
R
5 [hG =
i e [31 1] (1 4).1
e | o | e
g8 3 3l \s B 2
1 1 1
<o W, R I S 0,
Y g, 2068 B 4 EJ 10
2 ] I3
5 . - .
33. Given up...-r-—1E+ E—'1=1 E - K- E.; E_[l.‘l]!
|4 |2 '.2 T, 4 |2 \2 42)|
g (5 22} [3 aa] 295
=:.-f_-[_-_ = f=|= & ===
#7127l " " ld e e
[@EJ_E"E_EE
Ad B4
1 143 1] {gﬂ-lﬁiiﬂ. m} ’u]
2 45 6 60 &0 17 LY | 1
& - | [ o -——:5—_
o [2_5 3 _ ?] ] B T} 1—“ [Eﬂ 15] 10 10
\6 5 &6 18, 9 18) 18
35. [3434%] 34 x [i+%i:[ﬂﬂlxi!-§ﬂlx£|
'a 1]
= (G0 + fi= 4= El-I:-:-
' 2| 2
] & 4 5 = |
G =S ox—x— x50d | = B4
G, Grven exp. (EHT}'BKH:‘J J

=

S _[unm_r’ xﬂl_rﬂﬂ_rmg‘l_ﬁﬁﬁ-.r_ijl_sl_ 2087 _ 41017
S Fy g 15 13 15

L:t%afﬁﬁﬂ-r]-ﬁfﬁ-*-:-ﬁ-ﬂ-—ﬁ—iﬁ.

Then, 63 = 15 = 5+ x=- 61 + 235 < 63 =3 +x - 296
v 1ED + x o= 206 e x = 107,
1

8§ 2 = 5 2
et =+ =x == —x =+ —_ Then,

37 7 4 3 8
Elzh:i-: E:I:'H-li =1—t-|5HE]=H.
2 2 7 4 2 43 5



4]1.

£

47.

& 5

&l

= 20w (Bralildy+ 3= Blr ..

& 1)
Given aquation i : B2, 47+

Cleagly, x = 3 and ¥ = 3 satisfy (/L

T -
Hegquired difference = 19 16 _ 19 - 16 _ (19+16)119-16) _ 36x3 _ 105

lh 18 S04 S0 A1 Ad
371
) 5 78IE 6
Regquired number = —& & ———= « — % 8 « 300.
- "8 Ve 2

|
Let z of o= = = Then, = = 2 & z=|2xI2|= =,
12 8 12 & R ] *3
e ) ape -
Sum of given fractions LI R LI BN [“" el oL [
4 2 1 a 4 1z J 12
) : 185 .
The whale number just less than T i 15

— = on, e, 2 | B
I.I!1- 1 x 15\-“1 [ 1 1

Clearly, I;] ig the only [ractien in which the numerator is greater than the denomi-
nator. Bo, it 15 the greatest fraction.
Eofas-u-%urm;m-m-w.
6 6/7 .8 6 L 46 6 3-8 3% _21_.3
7/8 8 7T % B .7 b8 5% 66 4 .4
Let the value of the estate be Ra, x
#
Thm.%-:lfx 16000 o x| B0 E) nmuﬂgr_-[gxmnm}_mm_
L |

Lei the number be x Then,
2t o3 gann m cmfiBelvgxl ]-ssu - =% m 176
Y it : & lagh 2 ;

Let the number be x Then,

1 1 Tz = Bx Py 10 = 35
3::-.—::-1¢= : =1U*—+E—-lﬂ'u:—[ 2 ]—1'?5»
Bal1l =9 (11— 9w 11 =81 = 121 — 99 = 104
(_31
Ix(-1 -3 2) —9 2
{3 "11-3+{_1.-T.3{I.3t':3l lh=am= [ ] [ ] ==4

204+ 85+ 3= 228 -3 x5+ AR+ (2B -FAxX4+5xi
= (f & 1) =9 & 18] = 22

B5. 42 3@ p =4 B3 +2p) =4 D (9 +2p)=4% 2200+ 2p) =54 +4dp

W M +4p=-060, = dp-50-34=16 = p=4.



Simplification

8
{u+ﬁ-]*n
[u'bvc}lu-b-[ﬂ+b}da¢&_ 4 :"*b"'““_
e ] i
. Let the number be x Then,
2lxz+T
"; ~3=12 & 5(x+D-27=108 o+ br+35=135 e Sx =100 =+ £ =20
; k1
58, G]“:‘“P_‘[E:E'l {Exl'- axm Ll =§.
[) T 13) '.'-'r:13 19x4 4
1! E 13 11 3 J-E 99
Oiven ¢ap, = — + = = |
T R T e T R
. 5 13 :!5 17 & 14 25 3
Given op. = =X — - — 4+ — = —x— - —=x—
e R T T ¥ s A t'n
89 26 @350 613 _ .. 1
2 17 34 34 34
PR
T 8 528
4335 . 280 1 "
---.-_._x......ﬁ =3 iﬂﬂﬁ-m}tﬁ [ - Mﬁ_‘m
x 528 B x 1768 2R9<5 |
Missing digit = 2.
16 11 4 168 A
3 ? §+ ? = = T, Then,
1 11 3 1 1§ & 1 11 B 24 11
— M = = W — = ] — — e — = e e i I
R R Ry s R e
i E"-E--TII & dr =11 & :-E_EE_
4x 4 4
11 3 a6 T

5 8 8 8 3 10 25
E —+ = m— e — M — o —
i A R Tl T R
B, 7., 8,8 5.0 % %My il
6 6 i W 8 T 8
3 9% 5 5 10 & ag s g (6 36Y) @
I s e O i, g o | = - =
B 8 9 3 8§ 8" "’fkﬁ"m?.]'r
) :
. 38028 V"6 ).10 5 3 % .1.86:.10 5
Given exp. = —+ - of = =2 —Ly _ 4 = Dol oSy x" 4o
o Sl [_+_2] 18 A% BB A%
f
Sl e el Eee
+ 3 36 12 376/ & 8 %
7 LD Rupl g AMERN -
sIE et Eed R LB
'E_E_E.E—Liﬂuzﬂxi-g
2+12 242 woen =
3 3
) 20 1 58-11 41 _1a
E uired ana = ——— = =] —
e T as .. YW M- D



L A{o8) Ay 1.3
: _34vas ) s 4"1F 3 ag - 20 82
Bl KT . P e T E4 e 71 B3
3 4 5 4 5 20
@A i e SR R e R X P
. (iiven exp. 3 1 3 E:uﬂ 2 3 83 9 % B
3 B 3
'|+'|. qu
x o4 = 4 B 2
5 - 4 e O 1
69, Given exp. 1 ‘ia-_1 33 3
2 4 4
M 4 .5 13_2 31 Ny .
e e F ;.____11__.(& : e
70, h:“"up'_l.ﬂ 1 (3 E 1335_245 'E_E_i 12:"’ 1= 32 3
B 6 \10 5J 3 w 3 2
15 -2 1.6 :
R T ) g v e T 101 14
et T Th'“'[ﬁ;hh}"':t 37" &
— & ¥ —
5 2
T
i 3. 1. W0 _21 g (_,E".].:L
2(T42r1 & 4 4T ™ 21 3
47 26 26 1) 13 1
= —=T= = r=|rmu—lm — =4,
= 3 |3 % 3 3

3 P |
T2, Given exp. = 1 2004

78, Given exp. = 51"‘;;: +628 = 28 5 628 = .08,

74, Let % of 1565 + 285,76 = x + 245560,

Then, 12052+ 265,75 = x + 245560
x = 12882 + 26570 = 245060 = 1325775 — 245560 = 10E0215

L=
6. Given sxp. = 145 + 4.06 + 13985 = 16780,
4
T8, Let 5.25-420+ 28 + ;—:u:.a = B3
4 a0

Thet, & = (833 + 420 + 239 - (R25 + 28) = 1186 - 1105 =080 & x=———u —=b.
- 080 8
Given oxp, = (L008 = 0.01 = 0.0072 + 0. 0048
0002 & T2
-] ﬂm —— = ﬂ.u-'lﬂ
* DD00O04R 48 | 1000
TB. Given exp. = HTEE%_? 00285 = 1575 = 6 - 0.0LHS = 14.25 - 00285 - 142215
Given exp. = 0.2 + 0.2 = 1 % 0.04 = 0.4 — 0.04 = 038

™.
B0, Siven oxp. = 11.6 4 %- @ = 116: 3 =40 = 2756, .

Bl. Given exp. = 4.589 x % +06-02 = ﬂf— +06-02 = 2,295+ 06 - 0.2 = 2,686.



Simplification 101

644 - 34.7T125
8Z let ———— = 1. Then, 6.26 of x = 256875
025 af =
2687  2D6HTH ]
= = = d4.75 = 4=,
620 625 4

B3, Givenexp = 2002 + 79 {28 - 5.3 x 2.1 + 156]
= 2002 + 7.8 (28 - 1383 + 156} = 2002 + 7.9 = 5.17
w 32 4 "ﬂm - -‘2-.3"1.'!.
B, Let 24 — (24 — |24 = 2 — (024 = )] = 220684,
Then, 24 - [2.4 - (48 - 024 + x] = 220584 o 24 - [24 - 0456 — & = 220584
= a4 — 1M4 + x =~ 230684 & x= 220584 — 22066 = 0.0024.

85. ma-[m-{m-[uﬁﬁ‘}”:m
=
ﬁma—lm-[az—az-%]ﬂm = 3-{LE+%]=O.EE
o B-16-0 0 e T L 0B o oz DD,
" " 0.75
BE. Let EHT.1+53~14::2-#*7011H-
5874 5874 5874 11 _3
Then, 2202 _ BRT4 + 11748 — T02744 = L 3874 G8W 11 .3
n, 3 2744 = 2138 = =z 1135:2135 : .EI‘
Migsing digit = 3.
87. Let 54.27 — 1284 - |x - (8.82 - 1.85)}] = 33.33.
Then, 54.27 - [12.84 - [x — 4.97]] - 28.32
o B427 - [1284 — x + 497] = 3833 = 54.27 = [1781 - o = 58.33
o+ 5427 - 1781 + x= 3833 « x= 3833 — 3646 = 1.57.
20 . 726 45 988
T e G ]
3 100 100 T AT
242 45z 968 242 100 968 242 100 117
T‘] ,  — —_— s e— B ] T — = — [y
en E+1Erl] 1“-:-.:- Exlﬁ.'l: lle: ﬁx“:gﬁﬂnlﬂ.
F....I
P+ & % T+1 & 4
= = -— = —
. P-@ F_, T-1 6 3
(4]

a1,




oL

A 1% i

-y .M 3y H_ 7 .M BN U

z+y 1 x_ . 1 12 18 {18/7 18
¥ T

-['Exl].ﬁ S, 1 18
7 18/ 18 19 1B 19

= i L
Bl g 15 (o Bl 4 18} Usm 3
P ¢ 16 & el A5 18] P
2 ] g
i1 ] ¥ i
1—_ 1-i1]'| B
F-a® _ 1,: el i _one 7
3ot . irﬂjll : ..f"T' t+H'_-'JTE5.F]E?"EE
&) e s
fm—b—ile+rdl=6andic=dl =g+ b -3

» (A=cl=(h+di=Gandic-ai-(bh+diwi
= (b+tdl=lag-c)-Bandib+ d=ic-ay=1

Quantitative Aptitude

m a=-fg=-Galc=u-3 = Zila=cl=3 = {a-c:-%-l.ﬁ.

i | 1
F=——=14 =1+ L X
a=1 a=1 it Rt
1. 1]} .
a i8 pogitive and @ < ] = = = | e
r r‘_l
a ¥ a ¥ by x 2]
—4+==1 = 1 B e —_— L —
x b ™ g b f - a b=y
E+£=I = E_'].—E:-:'-l—-—IIII B =¥ L_LI— =2
o S e ¥ ¥ r ¥=0 b=y
e E*Eﬂ_ b e "I =rh jlll:]_
g r (=¥ th-yM@ H-»
a e Fudl i) and M+ &= 40

Subtracting, we get : a” - ¢ =5 = @+ oila=-o =5
o gedd-Handia=) =1

LA}

Solving, we get ' &8 2 3, 0 = 2. Putting ¢ = 2 in (i), we get b = 6.

b
%.;-%-kmu}-l Then, 0 = 3k, & = db, ¢ = Th

at+b+r_.!.lr+4kr_3£_ﬁ_i
& Th R il

I+ T=Tx+b = Te-Tx =2 = 4r=2 = :I%.

New, 3x+ T "+ P = 3--.'}'_i-.l"- s P E_l
z a4 2 4
24 b
1 nf = M+baldiardd) = a=-11h
o+ 4b

E!i'El_ =116+ -1 1
a+3 -1b+% _-95 9




Simplification 103

102 (22 + 35 (2¢ — 3d) = (Za = 3b) (2 + ad)

2[‘.”+1 2[‘]”
Goedb) (Recdd) k) hdl
(20 -3k  (2c=3d} 1[2],.1 E[Fj-'l
b d
104, vi:i1.bi-:.h:+3d']{n—h—2t+3tﬂ-ia—b+2¢-—3:|'J[l+b—2~r—3d}
= |im + b} + (2¢ + 3] Ha = b} = (2c — 3d)]
=Hl:-h'l+12n:'—:’-'d".lll-[:-rb'l-—{2c-r:iu’:lt
- [nlhltn—b]—tu-bHE:'-:!d'l-h{i-h}l'EffEd}—ﬂEc+3d'.l['-!E-:!dl
-'h]—bl-l:ﬂ'+bﬁ—‘l-h'l'l'i{!fEd']'-l-l:,ﬂ'rb:'lif‘al'ﬂ-{zﬂ'iHlﬂﬁﬂi'-a'd.'
= g+ b [2c— 3d) = (a - b) (2e + 3d)
= 3::—3|d+2hc—3bd=ﬂar+hd—ﬂb¢—3bd
= dbc = Gad = 2Zbe= 3ad
104, Given exp = = Lo e Ak Sl Tiha..« .;E
: 1 3 wiE 19
1

- =
i

'F!.._I_ L

B — ‘.i.+]— L 1_ b

e | Q= iy, P —— | PP
105. x =2 I T T N A

2+ arn)
106. = = 1 - ; 3 i =

24 24 - e B
.1 . (19/5) 19
(5440 ]

11 9 32

n_4 i ax
107, Given exp = EI—E:--:—ﬁT"-I| = l}—ﬂx—ug— = ﬂ-ﬂx%x.ﬁ- s -4 =4

——

T {36/8) a5
2 2 2

%039 94— x039 2 x (139
3 B
Fe —r 34—
a1id n
2 9 2 2 100

B 8 , & , 11 e 11

b |

108. Given exp. = 3
2=

T 139/1L

ag ” 100 100 50
109, Gi 1 1 - i 1 E
! en R, = E —__—-1+ﬂ- J——I’-E-—l+-L1—-2—l*_ 15.
L GETE] 18
A 3 8

6, _B_

3 (/3 y
_1_"=E'EE_E+H_}-1_:EJIJ|¢]—-TE
L 43 w8 13 1 13 _-,H! 1l
o1 1 :

14 =

110, 2+




114

115,

118,

nT.

118.

121.

122,

Quanfitative Aplitude

:!_i-q ey EI‘EI_-‘I = 1= 120
4 6 30
3 21 ¥ [21 2 7 7
e = - = —_— _ T — — X = =y
2y I ¥ 22 3 11 11°
4x+By=83 - "”ifl-.}"rf":r"ﬁ-T - %J+5}'—'Eﬂ = Bir=83x11 = p=1lL
:=i}--[itllj—1
11 11
Ba, y=x=11-7T= 4
dx+y= 18 _AD and z—y=9 1)
ﬁddjng[fla.nduﬂ,“gnt:uuaﬂgr;-?l‘umﬂg_n'rmm,wem:y-_i
a+b=5 . A0 and Ha + 2h = B( i)

Multiplying (i} by 2 and subtracting from (i7), we get - a = 10.
Putting @ = 10 in (i), we get ; b- - 5.
(g + b)) =3 x 10 4+(-5)= 30 - 5 = 25
2p+3g)+(2p-Q)=18+2 =+ 4p+29=20 =» 2(Ip+ g =20
= Zp+qgm= 10
2x+ v= 5§ _.(M and Sx-dye=Q .. i)
Multiplying (i by 4 and adding (i) to it, we get : 11x = 22 or x = 2.
Puttingt:'éin{:‘,ln.mnr.:y::I.E»n,:h}r:ﬂrﬂ:-cl--l.
Br-fy=8 .Mdand-—"_=2 w Te=Sr4ly = -By=0 ..
r+ey 7
Eﬂl]-!:ﬂﬂ.iruﬁr}frmﬁ],weget; r= g,
Futﬁng:-ﬁin{:‘},we_ut:j'=:e.5:r,:—_r-5-!’=3
dx + 3y = 18y D and 2x— 5y - - dxy wldl}

Dividing (i) and (if) by xv, we get : % 4-% = 18 .. .(z3) and i—% =4 __{iv
£

Multiplying (iv) by 2 and adding (iif) to it, we got : lxi =36 or £ = %_

} b s 1
Pnttl.ﬂ;;uim{uf].wugm.}--g- \
2x+ =17 ._AD;y+2x= 15 {0 and i p=48 i)
Subtracting (i) from /), we got © ¥ = 8, '
F"nttmgxlginti},wegﬂ:y—lPul,l.ing_r-.linl.l'ﬂ,“gal:i::llu::?.
X+ B+ End B 3wl T =40
Ax — 4y + 1= 7 Wl 3X+ 3P —2=19 (5l and x+dp+Br=Y T
Adding (f) and (if), we get : Sx— y = 26 v
Subtracting (f) from (i} 7nd rdding to (iif), we got : By = 36 or ¥~ 4,
Putting v = 4 in (v}, we gt - 5x = 30 or x = &,
Putting x =« 6 y = 4 in (ifD), we got : 22 = W or 2= &
x+¥y=16 .AD:2+2=95 __ii) and 25+ xwm 26 .| FEF)
ﬁMingfILfiﬂlndiiiJ],wegqt_E[x+_r-:j-—EHnr.q;-ryv:::ht Y

From (i), we have : y = 252"’. From (i), wa have : x = 26 - 92

3
o zJ+-E‘-ﬂ = - =44 = 3z =83 = z=11

I:EE-—EI]H-[



Simplification 105

124.

135.

136.

127.

129,

130.
131.

132.

133.

184.

136.

13T

, Zx+3pedl Lddi;y-z-4 LD pnd =+ Zz=11 i)
Multiplying (fii] by 2 and subtracting from (), we get : qy—dz=9 W)
Solving (i) and (fv), we get - F= 7, 2= 4. Putting ¥ = 7 in (i), we get x5,
A4 Fte=[5+T+ 3= 15

5 b B.d c1d |
G _-!"..a_ B e 1.2
o 3738 T 13] 7
Given ex !':-:1:-3:.: m-n

A S S R n "
; 3 4 _ B 121 121
G L m e K= — BLLS
duiion ol o 120 2
i 8 T % 1003 1003
wen exp. = — ==X, .. B — T

3. 65 T 1001 3

; i :} 1 }{1 AME 1] f 1 l]f 1} 1
a exp. = ]-= = -— st | —=— l-—=— ==
ness=| =gt aT T e A [.u 7 ST AT
Clnﬂjt.sumufﬁrﬂtﬁurmtmmn.bmammufﬁﬁtaﬁlmﬂm .

i A B R T ‘R B |
ol m-[_ e e O )
Required su E-rﬂ P -

4

Gi = 1000 — —— | % 840 - 9UU000 - 4 = 998596,
VO eXp { Y

Given exp.

8 5 a) AW 2) . 1
= [ 1000 -= 000 -2 |+l 1000 =2 | +| 1000 - =+ 1000 - 1000 - =
[”“' ?]*[1 7][ 3] +[1000= 3|+ {10 T]H ?]
T L . 3+J+ll.mm-ﬂum-s=m1

N 7 7

. 4xP+Pe34+1  108+94+3+1 121
L‘lt'f‘l'."l'liﬂp.— = > B —
4x3 108 108
e 456+ 56+268+23 3 ]E.l-'::l-l 3ﬂ+12+l5 E__T_
' 1234566 “ 7z0 307

L ;
o (3353 (-3 8 B3

()b

E w05) \, 100 100

(425x100) _ 4250 _ o

U - T BB

[ncome after 1 year = Rz (d x 8 lakhs.

Income after 2 vears = Rs (4 * 2 % 2) lakhs = Ra. (4 » 2%) lakhs
Income after § years = Re. (4 x 2% lakhs = Rs. 128 lakhs = = Re. 1.28 erores

Total number of children = (30 x 16) = 430

Wumber of pieses =

Number of eolumns of 24 children each = [%1] _ 20.

Original pumber of sections = (16 - 3) = 13

Original number of students = (24 = 13) = 312,
Present nurmber of students = (21 = 16) = 336
Number of new students admitted = (338 — 312) = 24.



108

140,

141.

142

144,

144,
145,
148.

147.

148,

144

150.

Quantialive Aplilude

- Time between 10 a.m. and 13.27 hours = 3 hrs. 25 min, = 207 min.

Fer three periods in between free timo = 15 min.
Remaining time = (207 — 15} min. = 192 min.

Mﬁmﬂaﬂﬂh&peﬁo&u-[%}mﬂ.-mmin
i

Hrs. Min,  Sec.

a 17 45
=) 1 o4 54
1 22 a8
Total time = (1 = 50 + 22) min. + 59 sec. = (B2 x 60 = 50} sec. = 4979 sec

Number of times the light iz seen - [“f“

+I] = 384,
Money earned in 2 daye = Rs. (20 - 15) = Rs. 5.
Money earned in 16 days = Hs. rﬂix ||3J = Rs. 40,

LY

On 1Tth day, meney in hand = Rs. (40 + 20) = Rs. 60.
Required cost = Rs, 1000 = x + (z = 1000) x 3] = Rs. (1000x + Zy — 100w
= Rs. [1000 {x - 3 + 2.

26 trees have 25 gaps between them. Honee, required distance « [f:] m=9m

Let the number be x Then, 52x - 26x = 324 e 27x= 324 o x = 13
Among the given numbers, only 60439 is a multiple of 423
Let the monthly salary of & man be Ras. x.
Then, monthly salary of a woman = Ra. (x + 500
Ax + 2 (x + 500) = 46000 <« Gx = 45000 = x = TIOO.
Monthly salary of & woman = x + 500 = Rs. 8000,
-

Let marks in History = x, Then, marks in English = 35

:1;:-1-:0 - %z—l‘ﬂ} . ::[M}_qu
\

i
Hemce, marks in English = :E.::‘ = zH#ﬂJ = 100

i
Let the mumber of pineapples and watermelons be x and ¥ respectively
Then, Tx+ 5y = 38 or 5v = (38 - Tx) or v = ‘“;h.
Clearly, v is s whele numbes, only when {38 — 7x) is divisible by 5. This happens when
=4
Let number of boys — x Then, number of girls = hx.
Total number of children = (x + &x) = 6x
Thus, the tetal number of children must be a multiple of 6.
Let F and C denote the temperatures in Fahrenheit and Celsius respectively
F=32 C-0 F-au G  H

Then, = =] -
212-32 100-0 180 1063

IFE_Eﬂ,mmF-[%xIEqu:Iﬂ:Eﬂ-r:IE:EE-



Simplification 107

151,

152.

153,

154.

166,

167.

158,

160.

151.

162,

Let IV's share = Rs. x Then, s share = He. x

B'e ghare = Rs. (x + 125). A's share = R (x + x + 125) = K& {2x + 125}
s xd 1950 4 (x4 125} ¢+ x4 x e THO & Sr=000 &= x= L0,
Hence, A's ghare = 2x + 125 = Re, (2 = 100 + 125) = Ra 325

Let Gagan's share = Rs. x

; fx = ox
Then, Sachin’s share = Rs. I-,E and Rohit's share = Hs. —r
¥ i
%+§+::1mu = Br = 5000 = x = 625

Total number of digits = (Na. of digits in 1-digit page nos. + No. of digits in 2-digit
page nos, + No. of digite in 3-digit page nos.)
=(1x9=2x90+3x 267) = (9 + 180 + BO1) = 990
No. of digits in l-digit page nos. = 1 x B =19,
No. of digits in 2-digit page nos, = 2 » 90 = 180
No. of digils in 3-digit page nos. = 3 = 200 = 2700
Wo. of digits in 4-digit page nos. = 3188 - (9 + 180 + 2700) = 3189 — ZHED « 300
Mo, of pages with 4-digit page nos, = (#J = 75.
Hence, total number of pages - (999 + 75) = 1074.
Each row contiaing 12 plants.

Leaving 2 corner plants, 10 plants in between have (10 = 2) metres and 1 motre on
cach gide is left.

Lengih = (20 + 2l m = 22 m.
1 s8¢ 1 sec. 1

wired fraction = = = —,
aq S 1 hr. (1= 60 =60) see.  J600

3
¥ : 3 27 27 1
Height at the third bounce = 1323-:[1] ] m = [Elﬂx E_J m= o, ]32 .

Suppose Sanket earns Re x in each of the other cloven months.
Then, Sanket'’s caming in March = Rs, (22
Sankets annual carning = Ra. (1lx + 2x = Rz {13x.

ax 2

] ired fraction = — = .
Tt 13x 13

1
Lnthhempa:mrnﬂhemnkhxlitrﬁ.ﬁm.%.1.'=Hﬂ = =M = i 120.

[ 1]
Distance travelled on foot =i-3--{ErEJ m_’ri-ﬂ]h“._ 2 ym.

g2 13 & 12 & 4
; P2 B 4
& equired fraction = — =la —
s e [3 G T

Let the required fraction be x Then,

4 4 15 4 [m 4%y 7T 1 [1 '.'J 7
—_—Et— B e g — 8| —=e | = = = XE |- —,
v APPOL, T 7 14 ?,I 14 2 &

b2

gnf%ufﬂ.uiﬁ.ﬂﬂ
Huquiredﬁ'.l.ﬂiun—-a—- - o ——— y
3 of Re. 36 Rs. 54 540 80



108 Quantitative Aptitude

163. Let the length of longer piece be x em. Then, length of shorter picce = I'%ﬂ em.
L d

_1-_'-|-E-1='i'-l:|- o E-?ﬂ 8 X = Jﬂ!:‘t;‘.ll—ﬁu.
5 5 J
2 2 f2 )
HEHIE.l-E'ﬂﬁ'ﬂ'lufthnThrpm—Et— - &ujm-:ﬂlm.
\

164. Let tho whole amount be Rs. x Then, A's share = Rs, Lix]; B's share = Ra | ’]

andﬂ'sdmm:h[ [“’* ’]] m—.[i‘]. ; 3

16 4 16
E-;‘— =Bl &= T = [ﬂﬂﬁu] w 144
16 9

Henee, s share = Hs. (I—Zi] = K=z 35

Y ol 1 L 1
ix L [ e o e S W O T SO [l
166, raenpurt:m [ []D 20 + + +ﬂ]]]
. 1 F.3- 101 :]'| 1147 47 453
]| ] = —— =+ l=—N—=]l-— = - £
[:n[aa;ss_’ 0 &0 800 600

Let the length of the pole be x metres,

454 {1208 = 600

Then, — r = 1208 ~ = 16
= 500 il ]

453
166. Let the number be x Then,
j;x-ﬁ—x'-iﬁﬂ & 2lr-Gxr=160x28 &= 15z =150x2% o 1« 80

167. Let the sum bo Hs. x Then,

EF—EI=H=E¢\I—$§=EEEM n;—[mluzat.
g B 66 |

l|' £
Correet answer = He Lg o Eﬂl = He. 9.
s

168, Let the fraction be E. Then,

G | e

L 5]3.[51"‘ TR S
o7 3] i

a

o B b
; . 4T

169. Mazimum internal assessment score = I\EEH 10| = B.4.

{a 1 b _ 512 a
| o _ T — -_— 0
iLh v b

L=l =]

.'

14
— K
50
Bequired difference = (9.4 — 2.8} = 66
170. Let savings in NB.C. and PPF be Rs. x and Rs. (150000 = x) respectively. Then,
%1—%11%{&1- %) & §+:;F.-.r|5um L %;mcm - :-[7"':“:]"“:

Savinge in Public Provident Fund = Hs. (150000 — 90000) = He #0000

%
Minimum internal asesssment score = ( ID} =28

= G000,
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171.

172.

174.

176.

176.

177.

178.

Lt there be (x + 1' members. Then,
Father's share = %, share of each other mombar = f—
x
f
a;i];l e ol e &
L4z 4

Henica, total number of family members = 10,

k|
m:nlnw:ﬂs:.ﬁm.upﬁ'ﬂﬁ.[;;.
4
3
Total income = Ri[.ti-kx'l-ﬁ.ﬂr?ﬁ!
LI Ty
. e 4 5
Required fraction = | =— = — [ = —.
T [4“5;] 5
27 ., 3 x i
Lei s ghare = Rs. x. Then, B's share = Ha. MAeshore=Re. | == = | = Rg. —.
4f 34 fi
X elix=1360 o E-].’iﬁn = r:[!ﬁuxlg]=hm
8 4 12 17

Henoe, B's chare = Hs, [%} = Ha. 240.

Let Tanya's share = Re. x. Then, Veena's share = Ra. [%],

i o 2 I"l' 11| P [ x E.TI. 11x
.ﬁmms.sha.m_ﬂa_[ﬁxij H.r.[aj Total bill = Rs, ;+21-.R R"[_'E
: i x #1_ 8

R-eqm.radfraﬂmn_[zxmj—”.

Let the capacity of the tank be x litres 'lhcn.l—.:—lﬂﬁ- = x =134 = 540

180) 1
54Lh| 3
Let the capacity of the tank be x litres.

Hequired fraction - [

"l'hnn.,%:—%::]ﬁ- e A0r=ldr = 1635 < I6xr =580 < xs= 35
Let the capacity of the bucket be x litres. Then,
Capacity of 1 large bottle = %; Capacity of 1 small bottle = %

L 2 % 5

i in | bottle = | ——— | = —.

Fluid left in lange [‘ 1] 28
. . faries) (Bx 4)_3
Eﬂqtu.red.ﬁra:tm—[ =3 ]_[Eﬂxx]_ 3

Let the capacity of 1 bucket = x Then, capacity of tank = 25x

Mew capacity of bucket = %r.

E 28 & 125 1
Required number of buckets = —rp = [EE:H E} - B2=.
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178, Suppose initially Poter had Rs. x Then,

Anovik recaivad: Ty Mkl ol | 2]

L

f !
Amount. remaining with Peter - Re. x- | - Ra [“‘]
i !

Armount recgived by Bam = Hu.{éxi—]—ﬂa,_(ﬂ-

’:- E-Eﬂﬂ m Bx = 4000 & x = A0O.
Henee, amount received by Michaol = (x/4) = R 200

1 A 1 2
L J’.l.' = = = 1 = | = o=
180 & share 3 Remainder [ 3] 5

- 2 4)5 82

Buihlre-:—.:l'-__-.-.m-lf-. Ly

o 3 18 L3 lﬁ] 15 5
'E'I.ﬂIle-n'ﬂ shars = l E l
2 & 4

181, Furtrﬂdunﬁ.rsldu-%.Renminingpartﬂl—%}

F

4 BTG e i O |
Part d second day = = of Unread —-—m|l = -
read on ¥ 5 8- 3 part = !R =|J g
Lﬂﬂunum'bunfpag&ah&:.m:n,;:-3I}ur.t-ﬂﬂ;:ﬂ'—2-lﬂ.
. =3 e -
182. Wile's ghare = =, Rompining part = [1-=| = =,
2 2] 2
2 1Y | 'rl 1' 1
Share of 3 pona = | af - = =, B = =,
re [:‘! a 2, 3’ Emaining part = lI,E- g
Each daughter's share = ~ % . = L,
d 6 |

lﬂﬂietnmlmbeﬁi.x_men.%znzmnﬂ e v o= 0000 < 24 = 450000,

Each son’s shame = Ha [13 :[lﬂwm]] = He 5333333,

183, Out of G girls, 1 took part in fete. Out of & boys, 1 took part in feie
Cruk of 13 students, 2 touk part in fete.

Hence, % of the total mumber took part in fete.
184. French men = é; French women = :;+I—:-e—
ul |-

SN X T S AT
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18&,

186.

187,

189,

180.

191.

3% 2
:]] Ell==|= =
k. [ )" 3

Fraction of studemts absent = g o g +* %
7

)"

% of boys = 100 o total aumber of boys = 300
Number of girls who participate = 200,

Girls = 3

(] )

of

glg -

Fraction of students present = !ri
L]
Mumber of bovs who partidpabe = 100L

1
sz of grls = 200 or total number of girs = 400.
Henee, tolal oumber of studenis = (300 + 4000 = TO0,

Let the number of votes casl be x Then, number of votes reguired = 3=

T

{
Counted voles = %:- Uncounted voles = Lr— E?IJ- %

Votes won by the candidate - . of By —Ei-
i3 4 5
A bx) x
T ired 2 | —===| = -
Hemaining voles requi [d - -
: . ! (x18) _ [i E‘] a
-~ Required frection = I:_ﬂ'ﬁl T . i Bt
Let the total mumber of slall members be x

i
Then, the number who can type or Lake shorthand = [.1: - E;J - :.

Let A and B represent the sels of persons who can type and take shorthond respectively
Then, n (A wB) = 2, alA) = = and n(B) =

ntA=Bl = nlAl+niBl-RiA Bl = —+£-£].—[
B

12¢ +20x - 152 ) _ 10x

f
Hire charpes = R= llﬂﬂﬁ‘i « Gl [ » TKEDU':] = Rs. B,
=k

Suppese Relit had Ré.  with him initially. Then, x - 860 = ~x 860 e x = 1075

Let the total number of shots be & Then, *

Shats fired by A = %1: Shote fired by B = %1-

Hilling shots by A ~%:J§= —% Shots mindhrﬂ—% -g:r-%!
::'—; -2Torx - :31;15: - 144. Birds killed by A = ;—" . {E—ixlﬁ'i] 30.

Mumbser of alterations required in 1 shirt = [%1 E * %] = %

s Mumber of alterations requinsd in G0 shirts = {”3



112 Cuantitative Aptitude

. ¥l
192. Let the largest fraction be x and the smallest be v Then, ; - Eq.p;,r = -
I-chemdd]ambez!‘hen:+2.r+a-a—gur_— -Ej—l-:iui
T t4 24 T
o L S SO O | Sk S S A x-fExi]_
2% 7 3 4 Tk B B 120 13
& 7 3 B 13 7 20 &
Bo, r = — e i o k. il
¥ XTI TR R "
: T 6 4
Henew, the fractions are =, = and —,
i & 4
183. Supposze each tube contains x grame initially. Then,
1 2 A
1[-1:+1ﬂ] =x4+=(2+20) = _itixi-!.!{l!—x &3 ¥ = x =40
i3 3 3 %3
184. Let the total number of apples be x Then.
r
Apples sold to 1=l cusiomer = [; HJ. Kemnining apples = x .';—,,* l} -
LS
1z 3 1 r B
Apples sold to Zond eustomer = — | — 1|41 = = - 1= +
siz ) 3 [5 3
fx 2 r I

Rm.inmglpﬂ‘“’[%'l]'ﬁ‘;?] [5'5] [1+1 _[;_:J

3
Applos sold to 3rd customer = 11-[£—--)+1 = {iq--].
aid 3 15 4

5 r 2 ¥E x} 5 ﬂ1 4x 9
R i | 2= " }. J (_,_}
o [a 3] [15 3 [3 I.-':,I [3 gl (15 3
R ixr 18 (18 _15
TR SR e =J'[3”a]'m
196. Given exp. = ‘“’W”“'E’#,whmu = B56, b = 167
at + bt
1
@+
: {a+bP-ia-b" 4ab
198, OGiven exp. = — - = 4 [where g = 469, b = 174},
107. Sabe (e + Y- (a-bF =20 -9 =20 = ab=10.
m.ﬁ=‘ﬂw_¢ﬁxr1‘1tﬁnﬂi
r+1 axl
e32 augl suad sazl
lm.lfn--aa.b .12.:' '1'1.tf ﬂa.r.hun
a?=b" fg=-b ia Poby (@ + b)
Give =
o [3_.5?;.+w-d: ic® _:F] ia M e+ d)
11 &

el ks N T T OO O
2J,41 0 B W8 o1 T o7
4 .| 4 x
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B T T T T T
201, a+bh+ef =gt s P+ 2+ 2iab+ be+ ol
= i{gbrhrn!-[n+b+dz—{ﬂ:+h=*l.'1]']ﬂg-ﬁg—lm
= ab+ be+ ca =50
202 Civen: 2 + ¥ + 2 = 64 = = 2 {2y = 7 - =) _ N f )
Now, [xey+i=mf s P+ P+ 2(p-y-m=
=4 Br—zF @+ ¥+ 24+ 2ix=-y-m

= -—Z{y-syr-ma=(2+ ¥+ M- (2P LD
From (i) and (if), we get : (22F =64 s 42 =64 = £ =16 © 2= 4
203. Given exp. = ---ﬂ] = (@ + b, whers & = 785, b = 436
- - aiibaunb} .
= (TAS + 435 = 1220,
204. Given exp, = [2*"&"!’{]:[ . }whrcn:lﬂ,b-lal-ﬂ
X 2 5 e-b
[ il
147 - 14.3,. :
17+
, Let ————— = 20. Them,
205 T
a
e e L Bt R SRR
P
208, i _a:"—ba'l{u—&jl[ﬂﬂinﬁf{iﬂ}:1ﬂ=+ﬂ¢+b=.l
e ia=-b)la+ 0} @+
.-3]2 |3 a\l 212
- e | o
I\E W& 6/ ’l.flal ‘i*i‘EI
= .fg__g] "2 25 %5 25
|5 B
u - -
Given exp. = -, $H ac -Babe | o p.e- (38494428 = 100

at st 4 & - ah-be-ra
Since (x=-y+ (y-D+{z-D=0, s0x— ¥ +(p- 2+ (z- 2
=3 ix-WiF—riz-x

g 3

Jix-yliy=ziiz=x) 1
Given exp. By -a- ’] 4

209, Let tatal seore be x. Then, highest peore = 3—':-—

: ﬂr‘l Bx . 3 Bx 2z
= = — L - r—: —
Hemainder (r 1 w7 Mext highest seore Y Sl T R T T

%-%{—:a o 08r-94x 2 O%1%] w Ox = 9x121 e z =121
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210. X + BX » 0.50 + 14 = 0.10 « 4X = 0.05 = 50
e X+ 10K + 140+ 02X = 650 = 27X =4860 = X =18
211. Buppnse their paths cross after x minutes,

Then, 11+57x = 51-68x s 120x = 40 e ;-%_

r

MNumber of floors covered by David ind1/3) min. = l%xsﬂ = 19,
d

So, their paths cross at (11 + 19) ie J0th floor.
212. N x 50 = (325000 - 300000) = 25000 <= N = 500,

213. Let total number of children he:.'_‘]‘hcn,::-c;;- " %18 = x = Bd.

f 3
2
‘. Number of notebooks = *+* -IZ%::EH:-:EH] - 51z

214. Let number of boys = x Then, number of girls = x,
Now, 2ix=Bla xor x = 16
s Total number of students « 2Zx = (2 = 16) = 32
216. Let the total number of gweets be (25x + B
Then, (26x + B) — 22 is divisible by 28
& (25x — 14] is divisible by 28 < 28x - (3x + 14} is divizgible by 25
= (3x + 14} Iz divigible by 28 ¢ x = 14.
~  Total number of gweots = (25 = 14 4 8) = 358,
218. Buppose the man works svertime for x hours,
Mow, working hours in 4 weeks - (5 = B = 4} = 160
Lo LB0 % 240 + X% 320 = 432 = F2x- 432 - 384 =48 = x= 15
Hence, total hours of work < (160 + 156) - 175,
217. Let pumber of boye = & Then, number of girls = (100 — x).
A B 240 (100 — 33 = 312 o= LAx- 2 =240 m TZ & x = H)
Hence, number of girls = (100 — 51 = 4,
218. Let number of boys = x Then, number of girls - (60 - x).
s ox(80 = ¥+ (B0 = % x= 1600 e G0x-x* + B0x - »¥ = 1600
e 2% - 120x + 1600 = 0 < o — B0x+ 800 = O
= (-4 (x=200 =0 = x=40 or z = 20
8o, we are nol definide, Hence, data is inadequate.
218. Let the distance covered by taxi bo x km. Then, distance covered by car = (B0 = x} km
15+ 0.5 (B0 = x) = 50 «= x =00 - 40 = 10 km.
220. Lot the number of correct answers be x NMumber of ineorroct answers = (B0 — x)
A = (60 = ¥i = 130 &= Sx = 180 = x- 38
221. Let mumber of matches logl = £ Then. number of matehes won = ¥ + 3.
2{ix4 3 =xr=23 &= x= 17,
Hence, total number of matches played = x + ix + ) = 2x + 3 = 37.
232, Let the number of 20-paise coins be x. Then, number of 26-paise coins = (324 = x.
o A x+0.25EM -x=71 & Hx+ 25324 = ¥l = TIMD
= hx= 10 <= x= 3.
Hence, number of 25-paise coins = (324 - x) = 124,
223, Let number of notes of each denomination be x
Thm.x+|5.t|- 108 = 480 = 18x =480 = x = 30,
Henee, todal number of notes = 3x = 40
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224,

227,

231.

232,

1
Dfi,:imlu!mrenf'lpl::mn-%. Hwﬂmrl:'uf!purm"-f-
In:r-na-[i-l\!=-.1-
7T 8] &6
: (1) 56} 1 1
. o e T | m— H = -,
s Reguired fraction YL [&Ex] -
Let total numbser of sweeds be x Then,
x
— — — - - J:m-
140~ 178 4 ¢ fr=-dx=4xT00 = x
Let the number of persons be x Then,
S SR tpeh Slpeh W Lt el ol R
-4 = r-4 x 56 xix—4y M

= E-dx-96=0 & (x=1D(x+8 -0 < x=12
Let the mumber of ballz porchased be x

460 450 1 1 18 r+8-x 1
'nm i = 18 —  — ) ——
T ¥+ 8 M ¥ x+0b 450 zlz+5 320

B E+5x=150=0 & x+15x-100=0 = x=10
) 35
Let the length of the picce be x metres. Then, eost of 1 m of piece = Rs [—;J-

[;+4}[E'—]]=:}5 = 35_1.1‘_{] - = Jo e i =x =4
a i ¥
o Brdr—1d=0 = {5+ 14)ix-100=0 = x-=10

Let the cost of o chair and that of a tablo be Re x and Rs. y respectively

Then, 10 = dy oFr ¥ = =X

b= | &

R % S [ 1&#+2xgx—-ll}ﬂﬂ- e Dx = 400NN == x = 200,

smy-igxim“,:mn.
J

Henee, cost of +2 chairs and 3 tables = 12x + 8y = Hs. (2400 + 1600) - Rs, 3900.

[-1..30 A
3

Cogt of 4 mangoes = Cost of 8 lemons = Rs, 8| = Rs 1440

g

= Ha. 360,

Cost of | mango = R:.[an]

Coet of § apples = Cost of 3 mangoes -~ Rs. (3.60 = 3) « Rs. 10.80.
Coet of 8 oranges = Cost of 5 apples = Rs. 10,80,
[ 1080

{.'-m:l'.nflnmhge=ﬂﬂ.i : J-m. 1.20.
Lt the price of a saree and a shirt be Rs. x and Ra. ¥ respectively
Then, 2x + 4y = 1800 (i) and x & Gy = 160 v}

Solving {4 and (), we get : x = 400, y = 200,

-~ Cosat of 12 shirts = Hs. (12 x 200) = Ha. 2400.

Let the cost of a table and that of a chair be Bs. x and Rs. ¥ respectively

Then, 2x + 3v = 3500 1D and dx + 2y = 4000 Al
Solving (0 and (45, we get : ¥ = 1000 and y = 500,
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233.

¥

:

236,

237,

238.

Cuantitalive Aptitude

Let the fixed charge be Re. x and variable charge be Re. v por km.

Then, x = lay= 156 .05 and x + My = 5 L5}
Solving (7} and (i), we get : x = 60, v = 6,

& Cost of trovelling 30 km = Rs. (60 + 30 = 6} = Re. 240

Let the number of benches in the class be x Then, 6 (x + 1) = Tx— 5 e x= 11
Hence, number of studentz in the class » B (x + 1) = 8% 12 = T2,

Let the number of students in rooms A and B he x and ¥ respectively, Then,
E=10=y+ 0] = g—p=20 _ (Handx+20=2iy—20) = ¥=-2¥==6B0 .0/
Solving (1l and (i), we get : x = 100, y = B0

Let the number of buffoloes be x and the number of ducks be v

Then, 4x + 2y e 2ix <« M+ 24 o= Zx e &= r= 12

Let the number of hens be x and the number of cows be » Then,

E+p=48 (i) and 2x44y=1d0 = x4 Zy=T0 vl 1F
Solving (i) and (i), we get : ¥ = 26, y = 22

Buppose, Sanya and Vidushi donate money to x and (x + 5) people respectively
Ve, 200 G0

x X el

=1 o= 1Miz+5-100x =xi{x+5 o= z° +8x-50H =0

e (x—-2W0ix+B/=10 & x= 20
- Total number of recipients of charity = x+ (x+ 5) = 2x + § = 45



